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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST II EXAMINATION 

SESSION 2023-2024 

CLASS: X               MAXIMUM MARKS: 50 

SUBJECT: ARTIFICIAL INTELLIGENCE (417)    TIME: 02 Hours 
----------------------------------------------------------------------------------------------------------------------- 

General Instructions: 

1) This Question Paper consists of 20 questions in two sections: Section A & Section B. 

2) Section A has Objective type questions whereas Section B contains Subjective type questions. 

3) All questions of a particular section must be attempted in the correct order. 

 

4) SECTION A - OBJECTIVE TYPE QUESTIONS: 

• This section has 4 Questions. 

• Marks allotted are mentioned against each question/part. 

• There is no negative marking. 

• Do as per the instructions given. 

 

5) SECTION B – SUBJECTIVE TYPE QUESTIONS: 

• This section has 16 questions. 

• A candidate has to do 12 questions. 

• Do as per the instructions given. 

• Marks allotted are mentioned against each question/part.  

 

SECTION A: OBJECTIVE TYPE QUESTIONS 

 

Q. 1 Answer any 4 out of the given 6 questions (1 x 4 = 4 marks)  

   i. Sharing the information with the help of ____________ is known as verbal communication. 

a. Sign                b. Word                           c. Visual                               d. Writing 

1 

ii Which sort of stress is characterized by symptoms such as shortness of breath, dry mouth, 

stomach butterflies, and indigestion? 

a. Mental 

b. Physical 

c. Both mental and physical stress 

d. None of the above 

1 

iii What are the best options for caring for computer devices? 

a. Keeping a Device Clean 

b. Prepare a Maintenance Schedule 

c. Do not overcharge your battery 

d. All of the above 

1 

iv Which of the following is not an element of communication within the communication process 

cycle? 
 

a. Channel           b. Receiver                   c. Sender                       d. Time 

 

1 

v What is /are the reason for stress? 

a. You are too close to the exams but feel unprepared. 

b. You are stressed due to lack of sleep. 

c. You are experiencing a loss of someone close in the family 

d. All of the above 

1 

vi An operating system is a system software that acts as an _____________ between a user and 

computer. (Fill the blank with appropriate answer) 

1 



 

2 
 

 

Q. 2 Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)  

i Rahul would feed the data into the machine. This is the data with which the machine can be 

trained. Now, once it is ready, it will predict his next data efficiently. This previous data is 

known as ___________. 

a. Testing Data 

b. Training Data  

c. Exploring Data 

d. All of the above 

1 

ii It is defined as the ability to perceive the visual world and the relationship of one 

object to another. 

a. Mathematical Logical Reasoning 

b. Linguistic Intelligence 

c. Spatial Visual Intelligence  

d. Kinesthetic Intelligence 

 

1 

iii What is true about Data Visualization? 

 

a. Data Visualization is used to communicate information clearly and efficiently  

    to users by the usage of information graphics such as tables and charts. 

b. Data Visualization helps users in analysing a large amount of data in a   

    simpler way. 

c. Data Visualization makes complex data more accessible, understandable, and  

    usable. 

d. All of the above 

1 

iv  _________ are the people who face same problem and would be benefited with the solution. 

a. Key Persons 

b. Stakeholders  

c. End user 

d. None of the above 

1 

v Which of the following data is available as soon as the data event takes place? 

a. Big Data 

b. Real-Time Data 

c. Spatio-temporal data 

d. Time Stamped Data 

1 

vi Sometimes, you use the internet and try to acquire data for your project from some random 

websites. Such data might not be authentic as its accuracy cannot be proved. Due to this, it 

becomes necessary to find a ____________. 

a. Reliable source  

b. Random source 

c. Unauthorize source 

d. All of the above 

 

 

1 

Q. 3 Answer any 5 out of the given 6 questions (1 x 5 = 5 marks)  

i When a machine possesses the ability to mimic human traits, i.e., make decisions, predict the 

future, learn and improve on its own, it is said to have ______________. 

a. Artificial Intelligence  

b. Data Science 

c. Data Integrated 

d. None of the above 

1 
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ii AI modelling where the rules are defined by the developer is known as ___________. 

a. Rule Based Approach  

b. Learning based Approach 

c. Both a) and b) 

d. None of the above 

1 

iii The process of studying data is called _________ . 

a. Data Collection          b. Data Analysis         c. Data Visualization          d. All of the above 

1 

iv _____________ is a subset of Artificial Intelligence which enables machines to improve at tasks 

with experience (data). 

a. Deep Learning 

b. Machine Learning  

c. Artificial Intelligence 

d. None of the above 

1 

v The __________ makes the data understandable for humans as we can discover trends and 

patterns out of it. 

a. Random Data 

b. Graphical Representation  

c. Unstructured Data 

d. None of the above 

 

vi Videos, audios, images are the example of ________ data with reference to AI. 

a. Structured  

b. Unstructured 

c) Kinesthetic 

d) Spatial   

1 

Q. 4 Answer the following questions (1 x 6 = 6 marks)  

  i Mr. Ajit is capable of making calculations and using logic in their project. This skill relates to 

_________. 

a. Linguistic Intelligence 

b. Mathematical Intelligence  

c. Spatial Visual Intelligence 

d. Existential Intelligence 

1 

  ii Which one of the following is correct for Learning based approach? 

a. Supervised Learning 

b. Unsupervised Learning 

c. Reinforcement Learning 

d. All of the above  

1 

  iii A secret AI hiring tool was being developed by Amazon. The machine learning experts 

discovered a significant issue: their new recruiting engine disliked women. The system has 

already learned that male candidates were preferred. The resumes with “women” on them were 

punished. As a result, the tool failed. This is an example of___________. 

a. Data Privacy           b. AI Access                  c. AI Bias                 d. Data Exploration 

1 

  iv Smart assistants like Apple Siri and Amazon Alexa’s main objective are ____________. 

a. Voice Interaction 

b. Music Playback 

c. Voice Recognition 

d. All of the above 

1 

  v _____________ is the last stage of a project cycle. 
 

(Fill the blank with appropriate answer) 

1 

  vi Self-driving car is an example of ___________. 

a. NLU             b. NLP                    c. NLG                     d. CV 

1 
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SECTION B: SUBJECTIVE TYPE QUESTIONS 

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6 marks) 

Answer each question in 20 – 30 words. 

 

Q, 5 Write any four qualities of Self – motivated people? 2 

Q. 6 What is non-verbal communication? Write any two advantages of verbal communication? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Q. 7  Explain any two Barriers of Effective Communication? 

 

 

 

 

 

2 

Q. 8 To become successful in life, some basic self – management skills we require. Write any 

four such basic skills. 

   

 

2 

Q. 9 Write any four functions of an operating system. 

  

 

2 

 

Answer any 6 out of the given 7 questions in 20 – 30 words each (2 x 6 = 12 marks) 

 

 Q. 10 Explain all 4Ws in details for 4Ws canvas. 2 

Q. 11 What is Computer Vision in Artificial Intelligence?  

 

2 

Q. 12 What are some concerns that need to be taken care of while collecting data? 2 

Q. 13 What is the purpose of Data Science in AI? 

 

 

2 

Q. 14 What exactly is machine learning? Give two examples of how machine learning is used in 

everyday life. 

 

2 

Q. 15 Write any four tools for data visualization. 

 

2 

Q. 16 What is AI Ethics? 

 

2 

 

 

 

 

Answer any 3 out of the given 4 questions in 50– 80 words each (4 x 3 = 12 marks) 

 

Q. 17 Categorize the following highlighted words/phrases under Data Sciences, Machine 

Learning, Computer Vision and NLP:   

 

The latest technological advancements have made our lives convenient. Google Home, 

Alexa and Siri have been a huge help to non-tech savvy people. Features like Facial 

recognition and Facelock have added additional security to our gadgets.  

These advancements have also contributed in making our needs more approachable and 

convenient. Now you can even check the prices with Price comparison websites and order 

groceries online with chatbots. Did you know that you can even find how you are going to 

look when you grow old? 

Faceapps and Snapchat filters have made this possible!  

 

4 

Q. 18 Give any four automated machines which are often misunderstood as AI enabled machines, 

with proper explanation. 

4 

Q. 19 Differentiate between Supervised Learning and Unsupervised Learning. 4 

Q. 20 Data science has created a great impact in several sectors of human life. It has immense 

potential and has wide range of uses. Explain any four sectors/areas of applications of Data 

Science. 

4 

 

******** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

 PERIODIC TEST-II  

SESSION: 2023-2024 

Class: X                                                                                  Maximum Marks: 80 

Subject: Bengali                                                                              Time: 3 Hours 

 

General instructions: 

1. The question paper contains 10 printed pages. 

2. The question paper contains 15 questions. 

3. The Question paper is divided into two parts. 

PART – A: Objective type paper (MCQ): 25 Marks 

PART – B: Descriptive paper: 55 Marks 

4. PART – A has three sections: (MCQ) 

Section – A: Reading (unseen comprehension): 12 Marks 

Section – B: Grammar: 3 Marks 

Section – C: Main Course Book & Supplementary Reader / Non detailed text: 10 Marks 

PART – B has three sections: (subjective) 

Section – B: Grammar: 15 Marks 

Section – C: Main Course Book & Supplementary Reader / Non detailed text: 30 Marks 

Section – D: Creative writing: 10 Marks 

 

PART – A: Objective type questions (MCQ): 25 Marks 

SECTION-A  

(Reading: Unseen Comprehension) 

1. নীচের অনুচেদগুলি পাঠ কচর প্রদত্ত প্রশ্নগুলির সলঠক উত্তরলি লনর্বােন কচর লিচ া।  (1×4) ×3=12 
A. শরীচর জীর্াণু ল াকর্ার কথা র্িলিিাম। কািা জায়গা িাডাও আচরা নানান পথ লদচয় জীর্াণু আমাচদর শরীচর 
 ুকর্ার লেষ্টা কচর। লনিঃশ্বাস লনর্ার সময় একগাদা জীর্াণু নাচকর মধ্য লদচয় আমাচদর শরীচর ল াচক,  ার্াচরর সময় 
 ার্াচরর সচেও জীর্াণুর দি আমাচদর লপচির মচধ্য েচি যায়। তাইচতা ডাক্তাররা র্চিন, যতিা সম্ভর্ ফাাঁকা হাওয়ায় 
থাকা উলেত। যতিা সম্ভর্ পলরষ্কার  ার্ার গরম কচর  াওয়া উলেত।  
 আর্ার একরকম কু্ষচদ শয়তান আচি যারা লনচজ লনচজ মানুচের শরীচর ল াচক না, অনয লকাচনা লপাকামাকড র্া 
কীিপতে তাচদর র্চয় লনচয় লর্ডায়, আর লসই কীিপতে য ন কামড লদয় ত ন তাচদর কামচডর সচে অচনকিা 
ইনচজকশন লদর্ার মচতা কচর আমাচদর শরীচর ফুাঁচড লদয় কু্ষচদ শয়তান। লযমন ধ্চরা, রক্ত েুচে  ার্ার সময় মশা 
আমাচদর রচক্তর মচধ্য মযাচিলরয়ার কু্ষচদ শয়তান লিচড লদয়। লয সর্ লপাকামাকড কীিপতে কু্ষচদ শয়তান র্চয় 
লর্ডায় তাচদর মচধ্য মশা মালি িারচপাকা ইতযালদই প্রধ্ান। আর্ার একরকম জাচনায়ার আচি যাচদর শরীচরর মচধ্য 
কু্ষচদ শয়তাচনর আড্ডা। অথে যাচদর এমলনচত লদ চি লকান লরাগ আচি র্চি সচেহই হয় না। লযমন ধ্চরা এক 
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রকম িাগি। তাচদর দুচধ্র মচধ্য লদচয় তাচদর শরীচরর কু্ষচদ শয়তান আমাচদর শরীচর েচি আচস। ডাক্তাররা তাই 
র্চিন দুধ্িুকু ল চত হচি ভাচিা কচর ফুলিচয়  াওয়াই ভাচিা। 
i) আমাচদর শরীচর জীর্াণু কতরকম ভাচর্ ল াচক? 
a. লতন রকম ভাচর্           b. োর রকম ভাচর্ 
c. পাাঁে রকম ভাচর্            d. িয় রকম ভাচর্  
ii) গদযাাংশলিচত ‘কু্ষচদ শয়তান’ কারা? 
a. লপাকামাকড      b. মশা-মালি     c. কীিপতে      d. লরাগ জীর্াণু 
iii) মন্তর্য – িাগচির দুধ্িুকু ল চত হচি ভাচিা কচর ফুলিচয়  াওয়াই ভাচিা।  
    কারণ –১.  িাগচির দুধ্ সহচজ হজম হয়না। 
    কারণ –২. িাগচির দুচধ্ কু্ষচদ শয়তান আচি। 
a. কারণ ১ লঠক, কারণ ২ ভুি 
b. কারণ ১ ও ২ দুলিই লঠক 
c. কারণ ১ ও ২ দুলিই ভুি 
d. কারণ ১ ভুি, কারণ ২ লঠক 
iv) ‘কীি-পতে’- পদলির র্যাসর্াকযলি হি- 
a. কীি ও পতে 
b. যা কীি তাই পতে 
c. কীচির মচতা পতে 
d. পতে কীচির মচতা 
 

B. কীভাচর্ স্বামীজী আতব- আতুচরর লসর্ায় আদশব স্থাপন কচরলিচিন, একলি ঘিনা লথচকই তা লর্াঝা যাচর্। 
কিকাতায় য ন ভয়ানকভাচর্ লেগ লরাচগর প্রাদুভবার্ হচয়লিি,  দুরন্ত কাি র্যালধ্ ভীেণ মূলতব ধ্ারণ কচর লিাকক্ষয় 
করলিি, ত ন লতলন লনচজর ভগ্নস্বাস্থয উদ্ধাচরর জনয দালজবলিঙে  লিচিন । কিকাতার সাংর্াদ পাওয়া মাত্র লতলন লস্থর 
থাকচত পারচিন না । পচড থাকি তাাঁর লনচজর স্বাস্থযরক্ষার কথা । আতব-আতুচরর দরদী র্নু্ধ এই মহাপ্রাণ সন্ন্যাসী 
অলর্িচে দালজবলিাং লথচক লফচর এচিন এর্াং সচে সচে লরাগীচদর লসর্ায় আত্মলনচয়াগ করচিন । লস সমচয় দচি দচি 
লিাক কিকাতা লিচড যালেি । আর লতলন লনরাপদ স্থান লথচক সাংক্রামক র্যালধ্র লকচে উপলস্থত হচয় উপযুক্ত র্যর্স্থা 
অর্িেন কচর র্যালধ্র লর্রুচদ্ধ সাংগ্রাম করচত িাগচিন । এই সময় লকউ লকউ তাাঁচক লজজ্ঞাসা করি-  এই কাচজর 
জনয লয অচথবর দরকার হচর্, তা লকাথায় পাওয়া যাচর্ ?  স্বালমজী তৎক্ষণাৎ উত্তর লদচিন, “যলদ দরকার হয় মচঠর 
জনয কেনা নতুন জলম লর্লক্র করর্। সহস্র সহস্র র্যলক্ত আমাচদর লোচ র সামচন যন্ত্রণা লভাগ করচর্, আর আমরা মঠ 
করর্ ? আমরা সন্ন্যাসী। না হয় পূচর্বর মচতা আর্ার আমরা তরুতচি র্াস করর্, লভক্ষায় উদর পূরণ করর্, লকন্তু 
জনচসর্া কচর যার্।” আনচের কথা লয, লস মচঠর জলম লর্লক্র করচত হি না। 
i) ‘দুরন্ত কাির্যালধ্’ র্িচত লয  লরাচগর কথা র্িা হচয়চি- 
a) কচরানা     b) লেগ     c) গুলি র্সন্ত   d) মযাচিলরয়া 
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ii) স্বামীলজ দালজবলিচে লগচয়লিচিন- 
a) মচঠর কাচজ     b) ধ্মব সচেিচন    c) আচরাচগযর জনয    d) দীক্ষাদাচনর জনয 
iii) কাযব: পূচর্বর মচতা আর্ার আমরা তরুতচি র্াস করর্ । 
  কারণ: (ক)- অচথবর প্রচয়াজচন মচঠর জলম লর্লক্র হচয় লগচি। 
  কারণ: ( )- আমরা সন্ন্যসী। 
কাযব-কারণ লর্েচয় প্রদত্ত লর্কল্পগুলির মচধ্য লকানলি গ্রহণচযাগয ?   
a) কারণ (ক) সলঠক হচিও কারণ( ) ভুি   
b) কারণ (ক) ভুি হচিও কারণ( ) লঠক    
c) কারণ (ক) ও কারণ( ) দুচিাই লঠক    
d) কারণ (ক) ও কারণ( ) দুচিাই ভুি   
iv)  আতব-আতুর শব্দলির অথব হি-  
a) ধ্নী    b) দলরদ্র    c) ব্রাহ্মণ   d) কায়স্থ  
 
C. ১৯০১ সাচির আগস্ট মাচস লডসকভালর নামক জাহাচজ স্কি তাাঁর দির্ি লনচয় ইাংিযান্ড লথচক দলক্ষণ লমরুর 
লদচক যাত্রা কচরন। তার সচে একজন  ুর্ র্ড নালর্ক লিচিন, তাাঁর নাম সযার আনবস্ট সযাকিিন। দলক্ষণ লমরুচক 
সকচির কাি লথচক িুলকচয় রা ার জনয লর্ধ্াতাপুরুে তার োলরলদচক দুিবঙ্ঘ্য র্রচফর প্রােীর গচড লরচ চিন এর্াং 
তার ওপাচর জাহাজ লনচয় আর মানুে লযচত পাচর না। মাচঝ মাচঝ এই র্রচফর প্রােীচর ফাাঁক লদ া যায়, র্রফ য ন 
গিচত  থাচক। কযাচেন স্কি তার দিসুদ্ধ লসই র্রচফর প্রােীচরর মাচঝ এচস উপলস্থত হচিন, লকন্তু র্রচফর মচধ্য 
লদচয় যাওয়ার লকান পথ না লদচ  লতলন লফচর আসচত র্াধ্য হচিন এর্াং ১৯০২ সাচির লফব্রুয়ালর মাচস লকাং এডওয়াডব 
দ্বীচপ লনাের  লফচি রইচিন। ত ন দুরন্ত শীত, সমুচদ্রর জি জচম র্রফ হচয় লগচি। তাাঁরা লঠক করচিন লয আর 
লকিুলদন পচর লেচজ কচর  যাত্রা করা যাচর্। মাস কচয়ক কালিচয় ১৯০২ সাচির  নচভের মাচস লেজ যাত্রার সমস্ত 
আচয়াজন হচয় লগি। লঠক হচিা লয, স্কি , সযাকিিন ও উইিসন মাত্র এই লতনজচন যাত্রা করচর্ন এর্াং সচে  
উলনশলি কুকুর লনওয়া হচর্। যাত্রা শুরু হচিা লসই লনলদবষ্ট লদচশর লদচক। লকিু দূচর লযচত না লযচতই নানা প্রকাচরর 
র্াধ্া আসচত িাগচিা। ক্রমশ তাাঁরা এচগাচত িাগচিন।  লয ান লদচয় যান লস াচন এক এক জায়গায় তাাঁরু্ লফচি 
 ার্ার লরচ  যান এর্াং প্রচতযক তাাঁরু্র উপর একিা কচর পতাকা গুাঁচজ রাচ ন, কারণ লফরার সময় য ন  ার্ার 
দরকার হচর্ ত ন এই সমস্ত তাাঁরু্ লথচকই তা পাওয়া যাচর্ এর্াং লফরার পচথরও লনশানা হচর্ । 
i) মন্তর্য:  কযাচেন স্কি তার দিসুদ্ধ দলক্ষণ লমরুর দুিবঙ্ঘ্য র্রচফর প্রােীচরর মাচঝ এচসও লফচর লগচয়লিচিন। 
কারণ: ক) র্রচফর মচধ্য লদচয় যাওয়ার লকান পথ লতলন  ুাঁচজ পানলন। 
কারণ :  ) ত ন প্রােীচরর র্রফ গিচত শুরু কচরলিি তাই। 
কারণ লর্েচয় প্রদত্ত লর্কল্পগুলির মচধ্য লকানলি গ্রহণচযাগয : 
 a) কারণ (ক) সলঠক লকন্তু কারণ ( ) ভুি । 
 b) কারণ (ক) এর্াং ( ) দুচিাই ভুি । 
 c) কারণ (ক) এর্াং ( ) দুচিাই সলঠক । 
 d) কারণ (ক) ভুি এর্াং কারণ ( ) লঠক । 
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ii) অলভযাত্রীরা এক এক জায়গায় তাাঁরু্ লফচি  ার্ার লরচ  এর্াং তাাঁরু্র ওপর পতাকা গুাঁচজ লরচ  লযচতন লকন? 
 a) লফরার সময় লেজগালডর আচয়াজন করচত পারচর্ র্চি । 
 b) লফরার সময়  ার্ার ও পাচয়র লনশানা পাওয়ার জনয। 
 c) র্রফ গিচত শুরু করচি আশ্রয় লনর্ার জনয । 
 d) উলনশিা কুকুরচক রা ার প্রচয়াজচন । 
 
iii) প্রদত্ত র্াকয গুলির সতযাসতয লনধ্বারণ কচর সলঠক লর্কল্পলি লর্চি লনচয় লি : 
র্াকয - ১ : ১৯০৩ সাচির নচভের মাচস কযাচেন স্কি তার দির্ি লনচয় ইাংিযান্ড লথচক দলক্ষণ লমরুর লদচক যাত্রা 
কচরন । 
র্াকয - ২ : সযার আনবস্ট সযাকিিন লিচিন একজন র্ড নালর্ক,  লযলন কযাচেন স্কচির  সচে যাত্রা কচরন। 
র্াকয - ৩ : লকাং এডওয়াডব দ্বীচপ লনাের লফিা হচয়লিি ১৯০২ সাচির লফব্রুয়ালর মাচস। 
র্াকয - ৪ : লেজ গালডর সমস্ত আচয়াজন করা হচয়লিি ১৯০২ সাচির নচভের মাচস 
লর্কল্প :  
 a) র্াকয ১ ভুি লকন্তু র্াকয ২, র্াকয ৩, র্াকয ৪ সলঠক । 
 b) র্াকয ১, র্াকয ২ সলঠক লকন্তু র্াকয ৩, র্াকয ৪ ভুি । 
 c) র্াকয ২, র্াকয ৩ সলঠক লকন্তু র্াকয ১, র্াকয ৪ ভুি । 
 d) র্াকয ১, র্াকয ৪ সলঠক লকন্তু র্াকয ২, র্াকয ৩ ভুি। 
 
iv) দুিবঙ্ঘ্য শব্দলির অথব কী? 
 a) সহচজ লর্র করা 
 b) গচি যাওয়া 
 c) িুলকচয় রা া 
 d) লডোচনা শক্ত 
 

SECTION – B  

Grammar 

2. র্যাকরণ লথচক প্রদত্ত প্রশ্নগুলির সলঠক লর্কল্প উত্তরলি লর্চি লি । (লয লকাচনা লতনলি)  1×3=3 

i) ঈেৎ+উষ্ণ - সলন্ধ যুক্ত করচি হচর্-  
a) ঈেচদাষ্ণ b) ঈলোচদাষ্ণ  c) ঈেদুষ্ণ  d) ঈলোদষ্ণ 
ii) ‘দুলর্বনীত’- সলন্ধ লর্চেদ করচি হচর্- 
a) দু:+লর্নীত b) দুর্+লর্নীত  c) দূ:+লর্নীত  d) দুর:+লর্নীত  
iii) অভার্ অচথব অর্যয়ীভার্ সমাচসর উদাহরণ হি - 
a) আমৃতুয b) অনুকূি c) যথালর্লধ্ d) হাঘর 
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iv) কাচিাদাগ- সমাসর্দ্ধ পদলির র্যাসর্াকয হি-  
a) কাচিা ও দাগ  b) কাচিার নযায় দাগ c) কাচিা লয দাগ d) কাচিার সদৃশ 
v) এই সর্ ঠাট্টা-তামাসার মচধ্যই তপন আরও দু-লতনলি গল্প লিচ  লফচিচি।– ঠাট্টা-তামাসা শব্দলি – 
a) অর্যয়ীভার্ সমাস b) দ্বন্দ্ব সমাস c) একচশে দ্বন্দ্ব সমাস d) উপমান কমবধ্ারয় সমাস 
 

Section – C 

Main Course Book & Supplementary Reader / Non detailed text 

 
3.পাঠয গদয লথচক প্রদত্ত প্রশ্নগুলির সলঠক লর্কল্প উত্তরলি লনর্বােন কচর লিচ া: (লযচকাচনা ৬লি)   1×6=6 
i) “ক্রমশিঃ ও কথািাও িলডচয় পচড”- কথালি হি – 
a. তপন একলি গল্প লিচ চি 
b. লমচসা তপচনর লি ার প্রশাংসা কচরচিন 
c. তপচনর গল্পলি লমচসা কাচরকশন কচরচিন  
d. তপচনর গল্প পলত্রকায় লিচপ লর্লডচয়চি 
ii) ‘এমন সময় ঘিি লসই ঘিনা।’-ঘিনালি হি- 
a. তপচনর গল্প িাপা হওয়া   
b. তপচনর গল্প র্ালতি হওয়া    
c. তপচনর গল্প লি া 
d. তপচনর লিাচিা মলসর লর্চয়  
iii) মন্তর্য: “সারা র্ালডচত লশারচগাি পচড যায়”,  
যুলক্ত: তপচনর লি া গল্প পলত্রকায় িাপা হয়লন। 
a. মন্তর্য ও যুলক্ত দুচিাই লঠক 
b. মন্তর্য ও যুলক্ত দুচিাই ভুি 
c. মন্তর্য লঠক যুলক্ত ভুি 
d. মন্তর্য ভুি যুলক্ত লঠক 
iv) “এর মচধ্য তপন লকাথায়?”- কীচসর মচধ্য? 
a. সন্ধযাতারার সূলেপচত্র 
b. তপচনর নাচম িাপা গচল্পর মচধ্য 
c. সর্ার প্রশাংসার মচধ্য 
d. সর্ার হহ হে এর মচধ্য 
 
 
 
 



Page 6 of 10 

 

v) আচিার্ারু্ লরাগীর ঘাচয় কার্বলিক অযালসড লদচয়লিচিন লকন? 
a. লরাগীর কথায় 
b. ডাক্তারর্ারু্র লনচদবচশ 
c. লনচজর দালয়চে 
d. সাচজবচনর কথায় 
vi) আচিার্ারু্চক প্রথম হর্ঠক ানায় লদচ  লি ক কী লভচর্লিচিন? 
a. আচিার্ারু্ কারুর লেলকৎসা করাচত এচসলিচিন। 
b. আচিার্ারু্ লনশ্চয়ই িাকা োইচত এচসচিন 
c. আচিার্ারু্ লনশ্চয়ই আশ্রয় োইচত এচসচিন 
d. আচিার্ারু্ লনশ্চয়ই োকলরর ল াাঁচজ এচসচিন 
vii) এর মচধ্য লকান কাজলি আচিার্ারু্ কচরনলন? 
a. হারচমালনয়াম র্ালজচয় গান করা 
b. হাসপাতাচির লরাগীচদর ঘা লধ্ায়াচনা 
c. লর্নু র্ারু্র কুকুচরর সচে ল িা 
d. লো  রু্চজ ঘলডচত দম লদওয়া 
viii) মন্তর্য: “সমাচজর সচে লনচজচক লতলন  াপ  াওয়াচত পারচিন না লকিুচত”। 
কারণ (১) : আচিার্ারু্ সমাচজর আর পাাঁেজন মানুচের মচতা লিচিন না। 
কারণ (২) : আচিার্ারু্চক সমাচজর মানুে এচকর্াচরই লেনচত পাচরলন। 
লঠক-ভুি লকান লর্েচয় মন্তর্লি সলঠক? 
a. কারণ ১ লঠক, কারণ ২ ভুি 
b. কারণ ১ ও ২ দুলিই লঠক 
c. কারণ ১ ও ২ দুলিই ভুি 
d. কারণ ১ ভুি, কারণ ২ লঠক 
 
4.গল্পগুে (পাঠযসাংস্করণ) লথচক প্রদত্ত প্রশ্নগুলির সলঠক লর্কল্প উত্তরলি লনর্বােন কচর লিচ া: (লযচকাচনা ৪লি)      1×4=4 

 

i) রতনচক পডাচনার সময় লিি  

a. দুপুর  

b. লর্চকি 

c. সন্ধযা 

d. রালত্র 
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ii) লপাস্টমাস্টার লয কারণ লদল চয় র্দলির আচর্দন কচরলিচিন তা হি - 

a. স্থানীয় অস্বাস্থযকর পলরচর্শ। 

b. থাকা  াওয়ার অভার্ 

c. পানীয় জচির অভার্।  

d. লোর ডাকাচতর উৎপাত 

iii) মন্তর্য: “লপাস্ট মাস্টার ক চনা ক চনা দুলি একলি কলর্তা লিল চত লেষ্টা কচরন”।  

কারণ (১) – রতন তাচক কলর্তা লি ার অনুচরাধ্ কচর  

কারণ (২) - তার হাচত লর্লশ কাজ লনই। 

a. কারণ ১ লঠক ২ ভুি 

b. কারণ ১ ও ২ দুচিাই লঠক 

c. কারণ ১ ভুি ২ লঠক। 

d. কারণ ১ ও ২ দুচিাই ভুি 

iv) “এলদচক আর্ার আলম এমন উলিজ্জ প্রকৃলত লয” - এ াচন 'উলিজ্জ প্রকৃলত' র্িচত লর্াঝাচনা হচয়চি - 

a. এক স্থান লথচক অনয স্থাচন যাওয়ার মচনাভার্  

b. অনযচক আশ্রয় লদওয়ার সলদো  

c. অনযচক গুরুে না লদওয়ার মচনাভার্  

d. এক স্থান লথচক অনয স্থাচন লযচত অলনেুক স্বভার্ 

v) মন্তর্য: রহমচতর কচয়ক র্ির কারাদণ্ড হচয়লিি 

কারণ (১) - রহমত েুলরর দাচয় ধ্রা পচডলিি।  

কারণ (২) - রহমত গল্পকথচকর প্রলতচর্শীচক িুলর লর্দ্ধ কচরলিি।  

লকান উত্তরলি সলঠক?  

a. কারণ ১ লঠক ২ ভুি 

b. কারণ ১ ভুি ২ লঠক। 

c. কারণ ১ ও ২ দুচিাই লঠক 

d. কারণ ১ ও ২ দুচিাই ভুি 
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vi) লজি লথচক  ািাস পাওয়ার পর রহমতচক গল্পকথক প্রথচম লেনচত পাচরনলন। কারণ- 

a. তার লসই ঝুলি লিি না  

b. শরীচর আচগর মচতা লতজ লিি না 

c. িো েুি লিি না 

d. উপচরর সর্গুচিাই লঠক 

 

PART – B:  (Descriptive Type Questions) 55 Marks 

Section – B:  Grammar: (Subjective) 

 

5. A) সলন্ধ লর্চেদ কচরা। (লযচকাচনা পাাঁেলি)              1× 5 = 5 

i) জগদীশ্বর  
ii) মৃতুযঞ্জয়  
iii) ঘজ্জামাই  
iv) নীরর্  
v) আলর্ষ্কার  
vi) লশরচেদ। 
B) সলন্ধর্দ্ধ কচরা । (লযচকাচনা পাাঁেলি)              1× 5 = 5 

i) দু:+েলরত্র  
ii) পৃথক্ +অন্ন্ 
iii) র্াক্+ধ্ারা  
iv) উাঁেু+কপািী  
v) লন:+অথবক  
vi) মন: + অলভিাে 
6. লর ালিত পদগুলির র্যাসর্াকযসহ সমাস লনণবয় কচরা । (লযচকাচনা পাাঁেলি)              1× 5 = 5 

i) অণণর্ এ ন লদর্ালনদ্রা লদচে। 
ii) অলভচনতা সুের সাজচগাজ কচর দশবচকর সামচন লদচয় মচে প্রচর্শ করচিন। 
iii) নতুন লমচসাচক লদচ  জ্ঞানেকু্ষ  ুচি লগি তপচনর। 
iv) উপকূি এিাকা লদচয় প্রেন্ড ঝড র্চয় যাওয়ায় লস াচনর অচনক মানুে আশ্রয়হীন হচয় পচডচি । 
v) সুেচররই জয়ধ্বলন করচি লজাচর। 
vi) একিা সাদা জামাই যচথষ্ট লিি। 
 

 

 

 

 



Page 9 of 10 

 

Section – C 

Main Course Book & Supplementary Reader/ Non-detailed Text 

 

7. তপচনর আনেিা সহসা হালরচয় যায় লকন?                   2 
 
8. “সমাচজর সচে লনচজচক লতলন  াপ  াওয়াচত পারচিন না লকিুচত।” 
- উলিষ্ট র্যলক্তর সমাচজর সচে লনচজচক  াপ  াওয়াচত না পারার লর্েয়লি আচিােনা কচরা।  
 অথর্া  3 
তপচনর কাচি লকান্ লর্েয়লি লকন ‘আনচকারা’ মচন হচয়চি ? 
 

9. “লস াচন আচিার্ারু্র সাচথ আর্ার লদ া হচয় লগি।” -   
a) কার সচে লকাথায় আচিার্ারু্র আর্ার লদ া হি? b) লস াচন আচিার্ারু্ কী করলিচিন? 
                   অথর্া                                                     2+3=5 
“রচের মূিয জহুরীর কাচিই ।” - 
প্রসে উচে  কচর র্ক্তার র্ক্তর্য পলরসু্ফি  কর । 
 
10. স-প্রসে র্যা যা লিচ া-         5 
a)  “পথ হালরচয় যায় লযলদচক,  
           লসলদচক পথ আচিই” 
                অথর্া 
b) “লকিুই লকাথাও যলদ লনই 
          তরু্ লতা কজন আচি র্ালক 
   আয় আচরা  হাচত হাত লরচ  

আয় আচরা লর্াঁচধ্ লর্াঁচধ্ থালক।”  
 
11. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া।                2+3 = 5 

“আমরাও তচর্ এই ভাচর্ 
            এ মুহূচতব মচর যার্ নালক” – 
a) এ াচন লকান পলরলস্থলতর কথা র্িা হচয়চি ? b) এমন মচন হওয়ার কারণ লক ? 

অথর্া 
“অন্ধকাচর লতন পাহাচডর লেচনর লথচক লনচম                       
              হাওয়ালর্িাসী লতন লজাডা লো  আিচক লগি লেচম ।” – 
a) হাওয়ালর্িাসী লতন লজাডা লো  র্িচত কী লর্াঝাচনা হচয়চি ?  
b) লকন হাওয়ালর্িাসী লতন লজাডা লো  লেচম  আিচক লগি ? 
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12. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া।               2+3 = 5 

“তাহা হইচি এই আধ্মরা ভদ্রসন্তানলি পুনশ্চ নর্জীর্ন িাভ কলরচত পাচর।”- 
a) লকান্ প্রসচে এই উলক্ত?  
b) তাাঁর নর্জীর্ন িাচভর কথালি লকন এচসচি?   
13. প্রদত্ত প্রচশ্নর যথাযথ উত্তর লিচ া।               2+3 = 5 

“প্রথম পলরেয়িা এমলনভাচর্ লগি।”— 
a) কাচদর মচধ্য এই পলরেয় ঘচিলিি?   
b) প্রথম পলরেয়লির র্ণবনা দাও। 
                অথর্া 
“ কািই আলম যালে।”— 
a) লক, কাচক কথাগুচিা র্চিলিচিন ?  
b) র্ক্তা লকন উলিষ্টচক কথাগুচিা র্চিলিচিন ? 
 

Section – D   

Creative Writing 

14. লনম্নলিল ত লযচকাচনা একলি লর্েয় অর্িেচন অনুচেদ রেনা কচরা।     5 

ক. জিই জীর্ন -জি র্াাঁোও 

 . স্মািব লফান ও িাত্রসমাজ 

গ. লযাগর্যায়াচমর প্রচয়াজনীয়তা। 
 
15. লনম্নলিল ত লর্েয় অর্িেচন পত্ররেনা কচরা।       5 

লর্পচরায়া গালড োিাচনার জনয দুঘবিনা র্াডচি, -এই মচমব সাংর্াদপকের সম্পাদচকর কাচি একলি লেলঠ লিক া।  
অথর্া 

লতামার এিাকায় পানীয় জচির ভয়ার্হ সাংকি লদ া লদচয়চি, এই লর্েচয় লকাচনা হদলনক সাংর্াদপচত্রর সম্পাদচকর 
কাচি একলি লেলঠ লিচ া। 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST II  

SESSION: 2023-2024 

CLASS: X            MAXIMUM MARKS: 80 

SUBJECT: ENGLISH COMMUNICATIVE                TIME: 3 HOURS 

 

Details and instructions: -  

1. The Question Paper contains FOUR sections-READING SKILLS, WRITING SKILLS, GRAMMAR 

and LITERATURE TEXT BOOK. 

2. Attempt questions based on specific instructions for each part. 

3. This paper consists of 8 pages. 

4. There are total 10 questions. 

5. All the questions are compulsory.  

SECTION A: READING SKILLS (22 marks) 

1. Read the following passage.  

 

12  

 

 A. Children in India live in diverse circumstances and have diverse needs and rights. Along 

with their need to be educated, healthy and skillful, they need, and have rights to 

adequate nutrition to live in a safe and supportive environment, have opportunities to 

reach their optimal potential and generally lead healthy, joyful and fulfilling lives so that 

they can be productive and well adjusted citizens of tomorrow. 

 

 B. Children in our country face many challenges. Many of them are first generation 

learners and face myriad problems throughout their schooling. They, due to the socio-

economic and cultural determinants may be vulnerable in many ways. Peer pressure and 

lack of positive role models may prompt them to make unsafe and unhealthy choices. 

Anxiety and depression amongst the students, to the point of turning them suicidal, have 

been a cause of concern in the recent past. 

 

 C. Girls are more vulnerable and face discrimination at many levels from being unwelcome 

since birth to being pulled out of school for a variety of reasons. Dropping out of school, 

low motivation for academics and general disinterest in sports and physical activities too 

are some of the problems that need to be addressed. Child malnutrition is rampant in 

most parts of the country. This has an adverse bearing on their cognitive capacities, 

learning performance and physical capacity. 

 

 D. Our children have a right to age appropriate education, skill building, a safe and 

supportive environment, positive role models, empowerment and friendly help services 

and counselling. Well informed and skilled children are likely to make better decisions 

concerning not only their careers and relationships, habits, physical and mental health, 

but will be successful and an asset to the society. 

 

 E. They also need to understand and deal with emerging issues like newly available career 

choices, pollution, water and energy conservation, global warming, protection of 

environment, terrorism and disasters. Dealing with anxiety and depression, negative peer 

pressure, violence, accidents, are some other significant issues that impact individual's 

health and also the social, economic and health indicators of the country. Gender 

sensitivity, prevention of female infanticide and good parenting are some important 

social issues that all children need to understand. Children require guidance and 

assistance-both covert and overt-from their parents, teachers, peers and society in 

general to complete the various 'tasks' of development and deal with such issues. 
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 Based on your understanding of the passage, answer the questions given below: 

 
 

 

(i) Why do you think that the problems related to the proper growth of today's children should 

be addressed?                                                                                                                                              

A. To make them able to get a good job. 

B. To make them physically and mentally strong, successful and an asset to the society.  

C. To enable them to take proper decision.  

D. To make them soldiers in Indian army. 

1 

(ii) ‘Balance of a Nation, Depends on Girl Child Education’- How is the condition of Indian 

society antithetical to this statement? Answer in 30-40 words.                                 

2 

(iii) India is a developing country, not developed. What do you think is one of the main 

reasons behind it? Choose the correct option.                                                                                         

A. Socio- economic imbalance, especially deprivation of girl children. 

B. Lack of facilities in agriculture.  

C. Uneducated parents. 

D. Lack of interest of today's children in higher education.                         

1 

(iv) How are well informed children better than other children? 1 

(v) Briefly explain, in 30-40 words, the difference between the two families-one with an 

educated mother and the other with an illiterate mother. 

2 

(vi) Substitute the underlined phrase in the following sentence with a word from paragraph 2-4, 

that means the same.                                                    

Girl children of rural India have to face a great number of problems since their birth. 

1 

(vii) To make sure that all the children of India get proper nutrition, education and self-

supportive environment-- (Choose the correct option)                                                                                                                                                                                                   

A. only the education for girl children is to be addressed. 

B. the government, NGOs and all the educated citizens of India have to work hand in 

hand for the overall development of each child. 

C. the children of rural India should be taken care of. 

D. role models are sufficient. 

1 

(viii) Complete the following statement appropriately. 

First generation learners suffer throughout their school days. From this we can infer that ---

____________________________________. 

1 

(ix) Suggest a suitable title for the given article.   1 

(x) Read the following assertion carefully. Is it TRUE or FALSE?                                           

Anand and Neeraj are very good friends. They read in class III and sit together in the class. 

Anand's father is a doctor and Neeraj's father is a rickshaw puller. After few years this 

friendship can be challenging for Neeraj. 

1 

2. Read the following passage. 10 

 1. In the present technetronic world, protecting ourselves from cybercrimes is a necessity. 

According to the National Crime Records Bureau (NCRB) report, a total of 50,035 

cybercrimes were registered in 2020. That figure stood at 27,248 in 2018 and 44,735 in 

2019. A total of 18,420 persons were arrested and subsequently convicted by the court for 

crimes. The report also revealed an alarming rise in the rate of cybercrimes against children. 
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2. Everyone should be mindful of the importance of cyber security awareness. We cannot 

cease ourselves from digitalizing. It is essential that we move with the flow. Hence, taking 

measures to protect ourselves is important. 

3. A descriptive study was conducted to identify the level of basic knowledge of cyber 

security among a group of post-graduate students, who were prospective teachers, studying 

in a reputed university in Uttar Pradesh. The sample included 100 respondents including 40 

males and 60 females. Data was collected using a questionnaire on certain dimensions of 

password hacking, virus attacks, cybercrime and the misuse of social media. The table 

below shows the responses of the participants in the study. 

 

 
 

Sl. 

Nos. 

PARAMETERS TESTED ‘YES’ 

RESPONSES  

(IN %) 

‘NO’ 

RESPONSES  

(IN %) 

 

1. PASSWORD STRENGTH   

i Changes password periodically 53.8 46.2 

ii Reuses previous password 46.2 53.8 

iii Uses same password for each account 44.5 55.5 

iv Shares password with others 15.4 84.6 

v Uses common dictionary words as password 17.3 82.7 

2. VIRUS ATTACK   

i Protects laptop using Antivirus software 79.6 29.4 

ii Checks viruses with a virus scanner 52 48 

iii Downloads free software from 

untrustworthy sources 

22 78 

 

3. CYBERCRIME   

i Has been a victim of a cyberattack 11.8 88.2 

ii Has reported cyberattacks to the authorities 2 98 

iii Has knowledge of cybercrime investigation 

cell 

32 68 

iv Has knowledge of registration of 

cybercrimes 

22 78 

v Has knowledge of Information Technology 

Act 

21.6 78.4 

4. SOCIAL MEDIA BEHAVIOUR   

i Has unknown people as friends on social 

media 

52.9 47.1 

ii Shares personal information on social media 23.5 76.5 

 

 The study also revealed that in many cases, friends, family members or even partners are 

found to be guilty of the crimes reported. Also, though men and women are both prone to 

cybercrimes, it was noticed that women were victims of these crimes more than men. 

Everyone must make a unified effort towards building a safe digital world for all. 

 

 Based on your understanding of the passage, answer the questions given below.  

(A) Does the following statement agree with the information given in the passage?  

It is appropriate that parents withhold their children from accessing social media until they 

are at least 13 years old.  

Select from the following:  

True - if the statement agrees with the information  

False - if the statement contradicts the information  

Not Given - if there is no information on this. 

1 
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(B) Since today's children are familiar with the internet from an early age, is it necessary that 

they are trained in cyber safety? Support your answer with reference to the text in 30-40 

words. 

2 

(C) The most likely reason for including point (ii) under 'Social Media Behaviour' is to find out 

if respondents……………………….  

(a) are truthful about their personal details being shared.  

(b) check whether people like to stay connected virtually. 

(c) are at a risk of their shared personal details being misused. 

(d) check whether privacy settings on social media are user friendly. 

1 

(D) Based on your inference from the passage, complete the sentence given below. 

The National Commission for Women (NCW) has recently launched a program under 

which 60,000 women were trained in digital literacy and online safety across India. 

 

We may say this is essential because……………………….. 

1 

(E) Why does the passage refer to the NCRB paring data in paragraph 1? 

 

(a) to convey the relevance of raising cyber security awareness. 

(b) to highlight the role of the bureau in promoting cyber security. 

(c) to show that only a small percentage of cyber criminals are convicted. 

(d) to indicate that the rate of cyber-crimes decreased between 2019 and 2020. 

1 

(F) The current study attempts to find out whether the participants have knowledge of the 

Information Technology Act because it can help them understand the- 

(a) ethical and safe practices to combat cybercrimes. 

(b) cybercrimes registered and their current status.  

(c) trends in cybercrimes and their social impact. 

(d) rules and penalties relating to cybercrimes. 

1 

(G) Considering the background of the people who participated in the study, why do their 

responses to points (iii), (iv) and (v) under 'Cybercrime' raise concerns?  

1 

(H) Based on the reading of the text, state an argument to challenge the given statement. Write 

your answer in 30-40 words. 

If people interact through social media only with others who are personally known to them, 

they need not worry about being victims of cybercrimes. 

2 

                           SECTION B : WRITING SKILLS                     (22 marks)   

3. As the school Head Girl/Head Boy, write an email, in about 50 words, to the Teacher 

Coordinator, Student Enrichment Activities of your school, requesting him to include 

Basketball and Taekwondo in the Co-curricular Club Activities that are carried out every 

Saturday in your school. Include a reason why you need the activities to be incorporated. 

You may copy the given template to write your email  

From:  

To:  

Cc: principaldesk@davps.rediffmail.com 

Date:  

Subject:  

 

 

3 

4. A suspicious character is hanging around in your locality. Describe the character to the 

police in about 100 words. 

4 
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5.A Youngsters today are exposed to multiple health related disorders pertaining to skin, teeth, 

eyesight, foremost being obesity. They suffer from various deficiencies. A proper check on 

the healthy food habits, lifestyle and regular exercise can reduce the problem to a certain 

extent. As the Secretary of the RWA, write a letter in 120 words to the Health Department 

highlighting the rising cases of the health issues among the youngsters of your locality. 

Also mention the probable causes, pleading for a healthy resolution from the concerned 

authority. (MCB Unit 1 : Health and Medicine)  

7 

 OR  

5.B You are Ashish/Astha, a resident of 254, Vigyan Vihar, Madhya Pradesh. You are worried 

to see your younger brother's frequent habit of using Internet as a homework tool. On the 

basis of the ideas from Unit 3 ‘SCIENCE’(MCB) and the input given below and your own 

thinking, write a letter in 120 words to the editor of a famous newspaper expressing your 

concern over the youth who seem to be so dependent upon the computers in the present 

times. 

• In the techno world-24hour access to the Internet-no doubt school children using 

Net as homework tool.  

• has many advantages-quick way to find information update-more free time for other 

activities-provides a variety of sources.  

• more drawbacks than advantages-students' reading, writing and thinking skills seem 

to be disappearing-just copy information-some websites may contain inaccurate 

information-no interest in listening to teacher in school-concept of hard work 

disappearing in present generation-balanced, sensible use of Net required. 

 

6.A Every other day, you read in the newspaper information related to RTE, i.e. the 

implementation of The Right To Education Act that has heralded in a new era in the 

country's formal schooling. Still, you feel that it's a big challenge for the nation and the 

educationists. Based on the input given below, and your ideas gathered from Unit-2, 

Education (MCB), write an article on the implementation of the Right to Education Act in 

150 words. 

The RTE Act 2009 is the “Right of Children to Free and 

Compulsory Education Act, 2009” 

Act passed in 2009-the govt. committed 2.31 lakh crore for the 

programme-came into force from April 2010.   

 

Objectives: RTE aims to offer free and compulsory education to 

children until the completion of their elementary education. The 

word ‘free’ implies that no fee is payable by the child which may 

prevent him/her from completing education. 

Provides no ground for discrimination-even private schools to enroll 25% children from 

EWS/BPL and compulsory education to all children of the age of six to fourteen years-all 

cost borne by school/state-bringing children from EWS/BPL to join school-schools and 

teachers follow norms-quality education. 

Challenges: Poor infrastructure, shortage of qualified teachers-ignorant illiterate parents, 

poverty, a school with a library, playground, water and a room still a dream. 

8 

 OR  

6.B You are Debraj/Diya. There are frequent power cuts in your locality. You strongly feel that 

it is time to shift to solar power. Write an article in 150 words on the topic Solar Power: An 

Apt Global Solution for Energy Crisis. Use the given cues, along with your own ideas and 

those you have gathered from the Unit 3 –‘SCIENCE’(MCB). 

• Why is renewable energy need of the hour? 

• Does solar power help us financially? 

• How is it pollution free? 

• How does its maintenance cost differ from that of other non- renewable resources? 
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                                 SECTION C: GRAMMAR               (10 marks)  

7. Complete the tasks A-C, as directed.  

A. Fill in the blanks given below by choosing the most appropriate options.                                                                                                                                    

We enjoy protection from Earth’s magnetic field, (i)______________ and its iron-nickel 

core. This tear-drop shaped field shields Earth from high-energy particles 

(ii)_____________ from the sun and elsewhere in the cosmos. But due to the field’s 

structure, some particles get funnelled to Earth’s Poles and (iii)_________________, 

yielding Auroras, the natural fireworks show known by some as the Northern Lights. 

 (i) a. generates by our planet’s rotation        

     b. generated by our planet’s rotation 

     c. generating by our planet’s rotation                     

     d. generate by the planet’s rotations 

 (ii) a. launched at us                                                   b. launch to us 

     c. launching at us                                                   d. launches at us 

 (iii) a. collide into the atmosphere                                 

        b. collided with the atmosphere 

        c. collide with our atmosphere                               

       d. collides with our atmosphere 

1X3 

B. The following passage has not been edited. There is one error in each line. Write the 

incorrect word and the correction in your answer sheet against the correct question 

number. The first one has been done as an example. 

                                                                                                  Incorrect   Correct 

One morning I finished one business at the bank                         one       some 

(a)and were returning to pick up my motorbike which I had left ____     ____ 

(b)in the parking lot outside. Suddenly I realised that I have        ____     ____ 

(c)lost the bike key. Upset, I search for it in the bank.                   ____     ____ 

(d) A bank employee try to help me find it but in vain.                  ____    ____ 

1X4 



Page 7 of 8 
 

C. i. 

 

 

 

 

ii. 

Rearrange the following jumbled words/phrases in the given dialogue to create a 

meaningful sentence. 

Student: I was wondering which course to learn in my vacation. 

Teacher: It can be confusing with so many options online. You should make a list and 

narrow it down as per your interest. 

Student: tried that / I am / I have / with/ Artificial Intelligence, / left / three / and Data 

Science /but still / options- / Machine Learning 

Read the following dialogue and complete the paragraph given below. 

Yukti: What are you doing?  

Kritika: I am pressing flowers. You put flowers in a book to dry them out. 

Yukti: What do you do with them?  

Kritika: I turn them into colourful decorations. 

Yukti asked Kritika (a) ___________________. Kritika told her that she was pressing 

flowers. She further explained that flowers were put in a book to dry them out. Yukti asked 

what she did with them. Kritika was delighted to tell her that (b) _____________________. 

1 

 

 

 

 

2 

 SECTION D : LITERATURE TEXTBOOK   (26 marks)  

8. Read the given excerpts and answer the questions briefly, for ANY TWO excerpts, of the 

three, given.  

4+4 

A. “When wasteful war shall statues overturn,                                                                            

And broils root out the work of masonry,                                                                             

Nor Mars his sword nor war's quick fire shall burn                                                                  

The living record of your memory”. 

(Not Marble nor the Gilded Monuments) 

 

(i) What does the ‘wasteful war’ do?                                                                                              1 

(ii) Identify the figure of speech used in the first line.                                                                 1 

(iii) What do you understand by the phrase 'living record'? 1 

(iv) Which word in the passage means 'the craft of building a structure with brick, stone or 

similar material' 

1 

B. 

 

"Circumstances proved propitious" 

(Mrs. Packletide’s Tiger) 

 

(i) What ‘circumstances’ are being referred here? 1 

(ii) For whom did the ‘circumstances’ prove propitious? 1 

(iii) Which characteristic feature of the said person is revealed here? 1 

(iv) Which word can appropriately replace the word 'propitious'? 

 

 

1 
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C. "After all I’ve done for him, having to put up with him in the house these three years. It's 

nothing short of swindling". 

(The Dear Departed) 

 

(i) Whom does 'him' refer to in the above extract? 1 

(ii) In what context does she say these words? 1 

(iii) What is the speaker's attitude towards 'him'? 1 

(iv) Which word in the above extract means 'abode'? 1 

9. Answer ANY FIVE of the following six questions in about 30- 40 words each. 2X5 

(i) 'The real gentlemen are the people who never give up'--What values do you learn from the 

story ‘Two Gentlemen of Verona’?                                                                                                        

2 

(ii) The frog in ‘The Frog and the Nightingale’ claims to be the best trainer in the field of 

music. Justify your answer with valid evidences from the poem.                                                                                                                              

2 

(iii) Draw references from the story ‘Mrs. Packletide’s Tiger’ to assert the fact that Mrs. 

Packletide’s tiger hunt adventure evidently took place in India.               

2 

(iv) ‘Vainglorious Ozymandias was unable to realise the temporary existence of power and 

riches’. Justify the statement with reference to the poem ‘Ozymandias’.  

2 

(v) The postmaster saw Ali in the post office after his death .Was it the ghost of Ali or the 

image was a result of the postmaster's heat oppressed brain? Express your opinion with 

reference to the story ‘The Letter’. 

2 

(vi) How does the spat between the two daughters lead to Abel Merryweather discovering the 

truth? 

2 

10. Answer ANY ONE of the following two questions in about 150 words.  8 

A Discuss the thematic resemblance between the poems 'Not Marble nor the Gilded 

Monuments' and 'Ozymandias' in about 150 words. 

 

 OR  

B Imagine that Ali hears of Mrs. Packletide’s tiger hunt and decides to share some advice 

with her, about the impact of killing creatures for pleasure. As Coachman Ali, write a letter, 

in about 150 words, to Mrs. Packletide, based on the consequences following your own 

experience of how you have ruined your family life for your love of hunting. (The Letter 

and Mrs Packletide’s Tiger)  

 

 

*************************************** 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST – II  
SESSION: 2023-2024 

 
CLASS:- X                                                               MAXIMUM MARKS:- 80 
SUBJECT:- HINDI                                                 TIME:- 3 HOURS 
 
 

सामाÛय िनदȶश : 

1. इस Ĥưपğ मɅ  2 खंड हɇ:– खडं-‘अ’ और खडं-  ‘ब’। 

2. Ĥưपğ के दोनɉ खंडɉ मɅ Ĥưɉ कȧ संÉया  17 है और कुल पƵृɉ कȧ संÉया 15 है। सभी Ĥư अिनवाय[ हɇ। 

3. खंड ‘अ  ’मɅ कुल 10   Ĥư है, ǔजनमɅ उप-Ĥưɉ कȧ सÉंया 44  है। Ǒदए गए िनदȶशɉ का पालन करते हुए   40   उप-Ĥưɉ के 

उƣर देना अिनवाय[ है। 

4. खंड ‘ब ’मɅ कुल   7  Ĥư हɇ। सभी Ĥưɉ के साथ उनके ǒवकãप भी Ǒदए गए हɇ। िनदȶशानुसार ǒवकãप का Úयान रखत े

हुए सभी Ĥưɉ के उƣर िलǔखए। 

 
 

 खडं- ‘अ'  (बहुǒवकãपी / वèतुपरकĤư) 

 

1. िनàनिलǔखत गɮयांश को Úयानपूव[क पढ़कर उस पर आधाǐरत Ǒदए गए Ĥưɉ के सवा[िधक उपयुƠ उƣर 
वाल ेǒवकãप चुनकर िलǔखए| 
 

1X5=5 

 हम एक ऐसे युग मɅ जी रहे हɇ, जहा ँएक तरफ भौितक समǒृƨ अपनी ऊँचाई पर है तो दसूरȣ तरफ 
चाǐरǒğक पतन कȧ गहराई है। आधुिनकȧकरण मɅ उलझा मानव सफलता कȧ िनत नई पǐरभाषाएँ 
खोजता रहता है और अपनी अंतहȣन इÍछाओं के रेिगèतान मɅ भटकता रहता है। ऐसे समय मɅ सÍची 
सफलता और सुख-शांित कȧ Üयास स ेåयाकुल åयǒƠ अनेक मानिसक रोगɉ का िशकार बनता जा रहा 
है। हममɅ से Ǒकतन ेलोगɉ को इस बात का £ान है Ǒक जीवन मɅ सफलता ĤाƯ करना और सफल 
जीवन जीना, यह दोनɉ दो अलग-अलग बातɅ हɇ। 
यह जǾरȣ नहȣं Ǒक ǔजसने अपने जीवन मɅ साधारण कामनाओं को हािसल कर िलया हो, वह पूण[तः 
संतुƴ और ĤसÛन भी हो। अतः हमɅ गंभीरतापूव[क इस बात को समझना चाǑहए Ǒक इǔÍछत फल को 
ĤाƯ कर लेना हȣ सफलता नहȣं है। जब तक हम अपने जीवन मɅ नैितक व आÚयाǔ×मक मूãयɉ का 
िसंचन नहȣं करɅगे, तब तक यथाथ[ सफलता पाना हमारे िलए मुǔæकल हȣ नहȣं, अǒपतु असंभव काय[ हो 
जाएगा, ÈयɉǑक ǒबना मूãयɉ के ĤाƯ सफलता केवल ¢णभंगरु सुख के समान रहती है। यǑद आप 

असफलता से िनराश हो चुके हɇ और ऐसा सोच रहे हɇ Ǒक सब कुछ यहȣं ख×म हो गया तो आपको 
सफल åयǒƠयɉ के बारे मɅ पढ़ना चाǑहए। िनराश और उ×साहहȣन करने वाले हर ǒवचार हमɅ पीछे कȧ 
ओर धकेलते हɇ। िनराश हो जाना अथवा Ǒहàमत हारकर उ×साहहȣन होकर बैठ जाना èवयं के Ĥित 
एक अपराध है। हमɅ अपने आपमɅ èफूित[ तथा मन मɅ उ×साह भरते हुए èवयं पर ǒवƳास करना 
चाǑहए। कुछ िनराशावादȣ लोगɉ का कहना है Ǒक हम सफल नहȣं हो सकते, ÈयɉǑक हमारȣ तकदȣर या 
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पǐरǔèथितयाँ हȣ ऐसी हɇ, परंतु यǑद हम अपना Úयेय िनǔƱत करके उसे अपने मन मɅ ǒबठा लɅ तो Ǒफर 
सफलता èवयं हमारȣ ओर चलकर आएगी। सफल होना हर मनुçय का जÛमिसƨ अिधकार है, परंत ु
यǑद हम अपनी ǒवफलताओं के बारे मɅ हȣ सोचते रहɅग,े तो सफलता को कभी हािसल नहȣं कर पाएँगे। 
अतः ǒवफलताओं कȧ िचंता न करɅ, ÈयɉǑक वे तो हमारे जीवन का सɋदय[ हɇ और संघष[ जीवन का 
काåय है। कई बार Ĥथम आघात मɅ प×थर नहȣं टूट पाता, उसे तोड़ने के िलए कई आघात करने पड़ते 
हɇ, इसिलए सदैव अपने लêय को सामने रख आगे बढ़ने कȧ जǾरत है। कहा भी गया है Ǒक जीवन 
मɅ सकारा×मक कोिशश करने वालɉ कȧ कभी हार नहȣं होती। 

 (क)ǒवफलताओं कȧ िचंता नहȣं करनी चाǑहए ÈयɉǑक...........। 
 

     कथन पढ़कर सहȣ ǒवकãप का चयन कȧǔजए- 
 

       (i) ǒवफल होना अपराध है। 

      (ii) ǒवफलताएँ पथħƴ करती हɇ। 
      (iii) ǒवफलताएँ हमारे जीवन का सɋदय[ हɇ। 

      (iv) उनका लगातार िचंतन करने से सफलता कभी हािसल नहȣं होगी। 
 

ǒवकãप: 
 

   (A) केवल कथन (i) सहȣ है।                                         

    (B) कथन (i) और (ii) सहȣ हɇ।  

    (C) कथन (ii) और (iii) सहȣ हɇ।                                       

    (D) कथन (iii) और (iv) सहȣ हɇ।  
 

 

 (ख) हम कैसे युग मɅ जी रहे हɇ? 

     (A) जहाँ मनुçय केवल और केवल पतनोÛमुख होता जा रहा है। 

     (B) जहाँ मनçुय ĤितǑदन सफलता के नए-नए Ĥितमान गढ़ता जा रहा है। 

     (C) जहाँ हर Ĥकार कȧ सुख-सुǒवधाएँ हɇ, तो साथ हȣ बहुत-सी समèयाएँ भी हɇ। 

     (D) जहाँ भौितक सुख-सुǒवधाओं मɅ वǒृƨ होने के साथ-साथ चǐरğ का पतन भी होता जा रहा है।   
 

 

 (ग) जीवन मɅ Èया आवæयक नहȣं है? 

     (A) जीवन मɅ हर मुकाम हािसल हो गया हो। 
     (B) सफलताओं को ĤाƯ करने के बाद कोई असफल न हुआ हो। 

     (C) जो भौितक Ǿप से समƨृ है, वह आÚयाǔ×मक Ǿप से भी समƨृ हो। 

     (D) ǔजसन ेजीवन मɅ अपनी सामाÛय इÍछाओं कȧ पूित[ कर ली हो, वह सतंुƴ और ĤसÛन भी हो। 
 

 

 (घ) गɮयांश के अनुसार वाèतǒवक सफलता Èया है?  

     (A) अपने लêय को ĤाƯ करके उस पर अमल करना 
     (B) जीवन मɅ नैितक व आÚयाǔ×मक मूãयɉ को िसंिचत करना  
     (C) जीवन मɅ सभी Ĥकार कȧ साधारण कामनाओं को हािसल करना 
      (D) हर Ĥकार कȧ भौितक व आÚयाǔ×मक सुख-सǒुवधाओं को ĤाƯ करना 
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 (ङ) कथन (A) और कारण (R) को पढ़कर सवा[िधक उपयुƠ ǒवकãप का चयन करके िलǔखए- 

       कथन (A) - मनçुय मानिसक रोगɉ का िशकार होता जा रहा है। 

       कारण (R) - मनçुय अपने काय[ से असतंुƴ रहता है। 
 

     (A)  कथन (A) तथा कारण (R) दोनɉ गलत हɇ। 
     (B)  कथन (A) गलत है, Ǒकंतु कारण (R) सहȣ है। 

     (C)  कथन (A) व कारण (R) दोनɉ सहȣ हɇ और कारण (R) कथन (A) कȧ सहȣ åयाÉया करता है।  

      (D)  कथन (A) और कारण (R) दोनɉ सहȣ हɇ, Ǒकंत ुकारण (R) कथन (A) कȧ सहȣ åयाÉया नहȣं करता है। 
 

 

2. िनàनिलǔखत काåयांश को Úयानपूव[क पढ़कर उस पर आधाǐरत Ǒदए गए Ĥưɉ के सवा[िधक उपयुƠ  

उƣर वाल ेǒवकãप चुनकर िलǔखए| 
 

1X5=5 

 दो मɅ स ेÈया तुàहɅ चाǑहए, कलम या Ǒक तलवार ? 
मन मɅ ऊँचे भाव Ǒक तन मɅ शǒƠ अजये अपार 

कलम देश कȧ बड़ȣ शǒƠ है, भाव जगाने वाली। 

Ǒदल हȣ नहȣं, Ǒदमागɉ मɅ भी आग लगान ेवाली। 

पैदा करती कलम ǒवचारɉ के जलते अगँारे, 

और ĤÏÏविलत-Ĥाण देश Èया कभी मरेगा मारे? 

लहू गरम रखने को रखो मन मɅ Ïविलत ǒवचार, 

Ǒहंİ जीव से बचने को चाǑहए Ǒकंतु तलवार। 
एक भेद है और जहाँ िनभ[य होते नर - नारȣ, 
कलम उगलती आग, जहा ँअ¢र बनते िचंगारȣ। 

जहाँ मनçुयɉ के भीतर हरदम जलते हɇ शोल,े 

बाँहɉ मɅ ǒबजली होती, होते Ǒदमाग मɅ गोले। 

जहाँ लोग पालते लहू मɅ हलाहल कȧ धार, 

Èया िचंता यǑद वहा ँहाथ मɅ हुई नहȣ ंतलवार। 
 

 

 (क) कलम को देश कȧ बड़ȣ शǒƠ कहने का कारण है:- 
 

     (i)   इससे हम ǒवचारɉ का आंदोलन छेड़ सकते हɇ। 
     (ii)  लोगɉ मɅ जागǾकता ला सकते हɇ। 
     (iii) दया व Ĥेम के भाव जगा सकते हɇ। 
     (iv) शारȣǐरक शǒƠ का Ĥदश[न कर सकते हɇ। 
 

     ǒवकãप                    

   (A) केवल (i) सहȣ है।                                                     

   (B) (i) और (ii) सहȣ हɇ।  

   (C) (iii) और (iv) सहȣ हɇ।                                       

   (D) (i), (ii) और (iii) सहȣ हɇ। 
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(ख) Ĥèतुत काåयांश Ǒकस ǒवषय स ेसंबंिधत हɇ ? 
 

    (A)  ताǑक[ क ǒवचारɉ कȧ शǒƠ स े                                                

    (B)  शारȣǐरक बल कȧ उपयोिगता स े  

    (C)  केवल तलवार कȧ उपयोिगता से 

    (D)  कलम और तलवार दोनɉ कȧ उपयोिगता स े    
 

 (ग) काåयांश के आधार पर बताइए Ǒक मन मɅ जलते ǒवचार Èयɉ रखनी चाǑहए? 

    (A)   कलम को चलान ेके िलए            

    (B)   तलवार चलाने के िलए   

    (C)   Đािंत कȧ मशाल जलान ेके िलए                                          

    (D)   अपनी शǒƠ का अहसास कराने के िलए 
 

 

 (घ) काåयांश के आधार पर बताइए Ǒक समाज मɅ बड़ȣ-बड़ȣ Đांित का सğूपात कैसे हुआ? 

    (A)  कलम के बल पर। 
    (B)  ǒवचारɉ के बल पर। 
    (C)  तलवार के बल पर। 

    (D)  स×य और अǑहंसा के बल पर। 
 

 

 (ङ) कथन (A) और कारण (R) को पढ़कर सवा[िधक उपयƠु ǒवकãप का चयन करके िलǔखए:- 
 

    कथन  (A) - कलम एवं तलवार दोनɉ Đािंत का माÚयम हɇ। 
    कारण (R) - इनस ेलोगɉ मɅ जागǾकता फैलती है। 
 
 

   ǒवकãप 

    (A)  कथन (A) तथा कारण (R) दोनɉ गलत हɇ। 

    (B)  कथन (A) गलत है, Ǒकंतु कारण (R) सहȣ है। 

    (C)  कथन (A) सहȣ है और कारण (R) कथन (A) कȧ सहȣ åयाÉया करता है। 

    (D)  कथन (A) सहȣ है Ǒकंतु कारण (R) कथन (A) कȧ सहȣ åयाÉया नहȣं करता है। 
 

 

3. िनदȶशानुसार 'रचना के आधार पर वाÈय भेद' पर आधाǐरत पाँच बहुǒवकãपी Ĥưɉ मɅ स ेǑकÛहȣं  
चार Ĥưɉ के उपयुƠ उƣर वाले ǒवकãप को चुनकर िलǔखए:- 
 
 

1X4=4 

 क) ‘वह लड़का, जो पेड़ के पास खड़ा है, मेरा िमğ है।’ इसका सरल वाÈय होगा:- 
    (A) जो पेड़ के पास खड़ा है मेरा िमğ है। 
    (B)  पेड़ के पास खड़ा हुआ लड़का मेरा िमğ है। 
    (C)  वे सभी जो पेड़ के पास खड़े हɇ मेरे िमğ हɇ। 
    (D)  वह लड़का मेरा िमğ है और वह पेड़ के पास खड़ा है। 
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 (ख) कथन (A) और कारण (R) को पढ़कर उिचत ǒवकãप का चयन करके िलǔखए:-  
 

कथन (A) –  ‘यǑद वषा[ होगी तो फसल अÍछȤ होगी।’ Ĥèतुत वाÈय िमिĮत वाÈय का उदाहरण है। 

कारण (R) – िमिĮत वाÈय मɅ åयिधकरण समुÍचयबोधक अåयय का Ĥयोग होता है। 
 
 

    ǒवकãप  

   (A)  कथन (A) और कारण (R) दोनɉ ग़लत हɇ।   

   (B)  कथन (A) सहȣ है, परंतु कारण (R) ग़लत है।    

   (C)  दोनɉ कथन सहȣ हɇ, ÈयɉǑक कारण (R) कथन (A) कȧ सटȣक åयाÉया करता है।  

   (D)  दोनɉ कथन सहȣ हɇ, ÈयɉǑक कारण (R) कथन (A) कȧ सटȣक åयाÉया नहȣं करता है। 
 
 

 

 (ग) 'नवाब साहब खीरे कȧ तैयारȣ और इèतेमाल स ेथककर लेट गए।’ इसका िमĮ वाÈय होगा:- 
    (A)  नवाब साहब खीरे कȧ तैयारȣ और इèतेमाल स ेथक गए और लेट गए। 

    (B)  जब नवाब साहब खीरे कȧ तैयारȣ और इèतेमाल से थक गए, तब लेट गए। 

    (C)  नवाब साहब खीरे कȧ तैयारȣ और इèतेमाल से थक गए इसिलए लेट गए। 

    (D)  नवाब साहब थक गए ÈयɉǑक उÛहɉने खीरे कȧ तैयारȣ और इèतेमाल Ǒकया था। 
 

 

 (घ) घंटȣ बजी, छाğ पèुतकɅ  लेकर क¢ा से बाहर िनकले। इसका संयुƠ वाÈय होगा:- 
 

     (A)  घंटȣ बजते हȣ छाğ पèुतकɅ  लेकर बाहर चले गए। 
     (B)  घंटȣ बजी और छाğ पèुतकɅ  लेकर क¢ा से बाहर िनकले। 
     (C)  घंटȣ बजी और छाğ पèुतकɅ  लेकर क¢ा से बाहर िनकल गए। 
     (D)  1 और 2 दोनɉ सहȣ हɇ। 
 
 
 

 

 (ङ) कॉलम-1 को कॉलम-2 के साथ सुमेिलत कȧǔजए और सहȣ ǒवकãप चुनकर िलǔखए:- 
 
 

कॉलम-1 कॉलम-2 

(i)  मूित[कार मूित[ बनाता है और पढ़ाता भी है।  (क) सरल वाÈय  

(ii)  मɇ जãदȣ से बाहर जाकर ओले देखने लगा।  (ख) संयƠु वाÈय  

(iii) यǑद वह आए, तुम िछप जाना। (ग) िमĮ वाÈय  
  
 

   ǒवकãप  

     (A) (i) – (ग), (ii) - (क), (iii) - (ख)       

     (B) (i) – (ख), (ii) - (ग), (iii) - (क)       

     (C) (i) – (ख), (ii) - (क), (iii) - (ग)      

     (D) (i) – (ग), (ii) - (ख), (iii) - (क)     
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4. िनदȶशानुसार ‘वाÍय’पर आधाǐरत पाँच बहुǒवकãपीय Ĥưɉ मɅ से ǑकÛहȣं चार Ĥưɉ के उपयुƠ उƣर वाले 
ǒवकãप को चुनकर िलǔखए:- 

1X4=4 

 (क) कॉलम-1 को कॉलम-2 के साथ सुमेिलत कȧǔजए और सहȣ ǒवकãप चुनकर िलǔखए:- 
 

कॉलम-1 कॉलम-2 

(i)  धान के पानी-भरे खेतɉ मे बÍचे उछल रहे हɇ।  (क) कम[वाÍय 

(ii)  मोतीलाल जी को हȣ यह काम सɋप Ǒदया गया होगा। (ख) भाववाÍय  

(iii) उससे चला नहȣं जा रहा। 

 
(ग) कतृ[वाÍय 

 

  
ǒवकãप 

  (A) (i) - ख, (ii) – ग, (iii) - क                                                         

   (B) (i) - क, (ii) - ख, (iii) - ग  
   (C) (i) – ग, (ii) - ख, (iii) - क                                                        

   (D) (i) - ग, (ii) - क, (iii) - ख  
 
 

 

 (ख) कथन (A) और कारण (R) को पढ़कर नीचे Ǒदये गये ǒवकãपɉ मɅ से सहȣ ǒवकãप का  
    चयन करके िलǔखए:- 
 

कथन (A) - ‘नानी Ʈारा कहानी सुनाई जाएगी।’-  भाववाÍय का एक उदाहरण है।  

कारण (R) -  ǔजस वाÈय मɅ कता[ कȧ Ĥधानता न होकर अकम[क ǑĐया का भाव Ĥमुख हो, उसे    

          भाववाÍय कहते हɇ। 
 

ǒवकãप 
 

  (A) कथन (A) गलत, Ǒकंतु कारण (R) सहȣ है। 

   (B) कथन (A) सहȣ, Ǒकंतु कारण (R) गलत है। 
   (C)  कथन (A) व कारण (R) दोनɉ सहȣ हɇ, और कारण (R) कथन (A) कȧ सहȣ åयाÉया करता है। 

   (D)  कथन (A) और कारण (R) दोनɉ सहȣ हɇ लǑेकन कारण (R) कथन (A) कȧ सहȣ åयाÉया नहȣं  

     करता है। 
 
 

 

 (ग) इनमɅ स ेकतृ[वाÍय का उदाहरण होगा:- 
    (A)  रमेश से कमरा साफ़ नहȣं होता।  

    (B)  रमेश ने अपना कमरा साफ़ Ǒकया। 
    (C)  रमेश Ʈारा अपना कमरा साफ़ Ǒकया गया। 
    (D)  रमेश से अपना कमरा साफ़ Ǒकया जा सकता है। 
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 (घ) ‘नवाब साहब ने संगित के िलए उ×साह नहȣं Ǒदखाया।’ Ĥèतुत वाÈय का कम[वाÍय वाला सहȣ      

    ǒवकãप होगाः-  
    (A)   नवाब साहब के Ʈारा संगित के िलए उ×साह नहȣं Ǒदखाया गया।  

    (B)   नवाब साहब के Ʈारा संगित के िलए उ×साह नहȣं Ǒदखाया जायेगा।  

    (C)   नवाब साहब के Ʈारा संगित के िलए उ×साह नहȣं Ǒदखाया जाता है। 

    (D)  नवाब साहब के Ʈारा सगंित के िलए उ×साह नहȣं Ǒदखाया जा रहा है। 
 

 

 (ङ) ‘Ǒहरण तेज़ भागा।’:-  इसका भाववाÍय होगा     
  
  (A)  Ǒहरण तेज़ भाग गया।                  

  (B)  Ǒहरण से तेज भागा गया। 

  (C)   Ǒहरण तेज भाग सकता है। 

  (D)  Ǒहरण तेज भागा जा रहा है।      
 

 

5. िनदȶशानुसार ‘पद-पǐरचय’ पर आधाǐरत पाँच बहुǒवकãपीय Ĥưɉ मɅ से ǑकÛहȣं चार Ĥưɉ के उपयुƠ 
उƣर वाले ǒवकãप को चुनकर िलǔखए:- 
 

1X4=4 

 (क) एक बड़े आिथ[क झटके के कारण रमेश शमा[ इंदौर से अजमेर आ गए। रेखांǑकत अंश का  
       पद पǐरचय होगा- 
 

    (A)  åयǒƠवाचक सं£ा, एकवचन, पǔुãलंग, कम[ कारक 

    (B)   जाितवाचक स£ंा, एकवचन, Ƹीिलंग, कम[ कारक  

    (C)   åयǒƠवाचक सं£ा, एकवचन, पǔुãलंग, कता[ कारक 

    (D)  जाितवाचक सं£ा, एकवचन, Ƹीिलंग, कता[ कारक 
 

 

 (ख) कथन (A) और कारण (R) को पढ़कर नीचे Ǒदये गये ǒवकãपɉ मɅ से सहȣ ǒवकãप का           
        चयन करके िलǔखए:- 
 

 कथन (A) – वाÈय का अथ[ अÍछȤ तरह èपƴ करने के िलए उस वाÈय के शÞदɉ का åयाकरण    

                       संबंधी  आपस का लगाव बताना पद-पǐरचय कहलाता है। 

 कारण (R) – शÞद अथ[ के èतर पर भाषा कȧ सबसे छोटȣ èवतंğ इकाई है, और पद उसका वाÈय   

                       मɅ ĤयुƠ Ǿप है। 
 

  ǒवकãप  

     (A)   कथन (A) और कारण (R) दोनɉ ग़लत हɇ।  

     (B)   कथन (A) सहȣ है, परंतु कारण (R) ग़लत है।    

     (C)   दोनɉ कथन सहȣ हɇ, ÈयɉǑक कारण (R) कथन (A) कȧ सटȣक åयाÉया करता है। 

     (D)  दोनɉ कथन सहȣ हɇ, ÈयɉǑक कारण (R) कथन (A) कȧ सटȣक åयाÉया नहȣं करता है।  
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 (ग) 'वह अभी–अभी आया है।' मोटे काले अंश का पद-पǐरचय होगा- 

 
    (A)  ǑĐयाǒवशेषण, रȣितवाचक 

    (B)  ǑĐयाǒवशेषण, èथानवाचक 

    (C)  संबंधबोधक, ǑĐया-ǒवशेषणा×मक 

    (D)  ǑĐयाǒवशेषण, कालवाचक, आया(ǒवशेçय) 
 

 

 (घ) पद-पǐरचय के संदभ[ मɅ Ǒदये गये कथनɉ को पढ़कर उपयुƠ ǒवकãप का चयन करके िलǔखए:- 
  

कथन  

   (i)   पद-पǐरचय मɅ रस और छंद कȧ महǂवपूण[ भूिमका होती है। 

   (ii)   वाÈय के Ĥ×येक पद को दसूरे पदɉ के साथ संबंध बताना पड़ता है। 

   (iii)  पद-पǐरचय करते समय संपूण[ åयाकरण का सार Ĥèतुत करना पड़ता है। 

   (iv)  वाÈय मɅ चार Ĥकार के ǒवकारȣ और चार Ĥकार के अǒवकारȣ पदɉ का Ĥयोग होता है।  
          

 ǒवकãप 

  (A) केवल कथन (i) और (ii) सहȣ हɇ।                     

  (B) केवल कथन (i) और (iv) सहȣ हɇ।   

  (C) केवल कथन (i), (ii) और (iii) सहȣ हɇ।               

  (D) केवल कथन (ii), (iii) और (iv) सहȣ हɇ। 
 

 

 (ङ) तुम हमारȣ बुराई कर रहे थे। रेखांǑकत अशं का पद पǐरचय होगा 
   (A)  åयǒƠवाचक सं£ा, Ƹीिलंग, बहुवचन, कता[ कारक 

   (B)  भाववाचक सं£ा, Ƹीिलगं, एकवचन, कता[ कारक 

   (C)  जाितवाचक सं£ा, Ƹीिलंग, बहुवचन, कता[ कारक 

   (D)  जाितवाचक सं£ा, Ƹीिलंग, बहुवचन, कम[ कारक 
 

 

6. िनदȶशानुसार ‘अलंकार’ पर आधाǐरत पाँच बहुǒवकãपीय Ĥưɉ मɅ से ǑकÛहȣं चार Ĥưɉ के उपयुƠ उƣर 
वाले ǒवकãप को चुनकर िलǔखए:- 
 

1X4=4 

 (क) “आए अ£ात Ǒदशा स ेअनंत के घन”- पǒंƠ मɅ ĤयुƠ अलंकार है- 

   (A)  Ʋेष                                          

   (B)  उ×Ĥे¢ा 
   (C)  अितशयोǒƠ                                                        

   (D)  मानवीकरण 
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 (ख) कॉलम-1 को कॉलम-2 के साथ सुमेिलत कȧǔजए और Ʋेष अलंकार वाल ेसहȣ ǒवकãप का चयन    

    करके िलǔखए:- 
 

कॉलम-1 कॉलम-2 

(i)  अथ[ ǒबना कब पूण[ हɇ, शÞद, सकल जग काज। 

       अथ[ अगर आ जाये, तो ठाठ-बाट औ राज।। 
(क) उषा सुनहले तीर बरसाती,  
         जय लêमी-सी उǑदत हुई।  

(ii)  सोहत ओढ़े पीत पट, èयाम सलोन ेगात। 

    मनौ नीलमिन सैल पर आतप परय्ो Ĥभात। 

 

(ख) इधर उठाया धनुष Đोध मɅ  

   और चढ़ाया उस पर बाण। 

   धरा, िसंधु, नभ काँप ेसहसा,  
   ǒवकल हुए जीवɉ के Ĥाण।। 

(iii) एक Ǒदवस सूरज ने सोची,  
    छुÒटȣ ले लेने कȧ बात। 
    सोचा कुछ पल सुकँू िमलेगा,  
    चलने दो धरती पर रात।। 

(ग)चमचमात चंचल नयन ǒबच घूँघट पट झीन। 

मानहु सुरसǐरता ǒबमल जल उछरत जुग मीन।। 

(iv) वह शर इधर गांडȣव-गुण स े 

   िभÛन जैसे हȣ हुआ। 
   धड़ से जयġथ का उधर िसर  

   िछÛन वैसे हȣ हुआ।। 

(घ) रǑहमन पानी राǔखये, ǒबनु पानी सबसनू। 

        पानी गये न ऊबरɇ, मोती मानुष चून।। 

 

  
ǒवकãप 

    (A)  i - घ                                             

  (B)  ii - ग   

    (C)  iii - क                                            

   (D)  iv – ख 
 

 

 (ग) ‘लौ यह लितका भी भर लाई, 

       मधु मुकुल नवल रस गागरȣ।’ 
 

 इन काåय पंǒƠयɉ मɅ ĤयुƠ अलंकार है- 
 

  (A)   Ʋेष अलंकार                               

  (B)  उ×Ĥे¢ा अलंकार 

  (C)   अितशयोǒƠ अलंकार                                             

  (D)  मानवीकरण अलंकार   
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 (घ) कथन (A) और कारण (R) को पढ़कर नीचे Ǒदये गये ǒवकãपɉ मɅ से सहȣ ǒवकãप का चयन करके     

       िलǔखए:- 
 

  कथन (A) – अलंकारɉ के Ĥयोग से काåय-सɋदय[ बढ़ जाने से कǒवता अिधक Ĥभावशाली हो जाती है। 

  कारण (R) – अलंकारɉ के Ĥयोग से कǒव अपने भावɉ को बड़ȣ सरलता से Ĥकट कर सकता है। 
    

ǒवकãप  

      (A)  कथन (A) और कारण (R) दोनɉ ग़लत हɇ।  

      (B)  कथन (A) सहȣ है, परंतु कारण (R) ग़लत है।    

      (C)  दोनɉ कथन सहȣ हɇ, ÈयɉǑक कारण (R) कथन (A) कȧ सटȣक åयाÉया करता है। 

      (D)  दोनɉ कथन सहȣ हɇ, ÈयɉǑक कारण (R) कथन (A) कȧ सटȣक åयाÉया नहȣं करता है।  
 

 

 (ङ) आगे नǑदया पड़ȣ अपार, घोड़ा कैसे उतरे पार। 
      राणा ने सोचा इस पार, तब तक घोड़ा था उस पार। 
 

    इन काåय पंǒƠयɉ मɅ ĤयुƠ अलंकार है- 
 

     (A) Ʋेष अलंकार                                      

   (B)  उ×Ĥे¢ा अलंकार 

     (C)  अितशयोǒƠ   अलंकार                                        

     (D)  मानवीकरण अलंकार 
 

 

7. िनàनिलǔखत पǑठत गɮयांश पर आधाǐरत बहुǒवकãपी Ĥưɉ के सवा[िधक उपयƠु ǒवकãप को चुनकर 
िलǔखए। 
 

1X5=5 

 हालदार साहब को हर पंġहवɅ Ǒदन कंपनी के काम के िसलिसले मɅ उस कèबे से गुजरना पड़ता था। 

कèबा बहुत बड़ा नहȣं था। ǔजसे पÈका मकान कहा जा सके वैसे कुछ हȣ मकान और ǔजसे बाज़ार 

कहा जा सके वैसा एक हȣ बाजार था। कèबे मɅ लड़कɉ का èकूल, एक लड़Ǒकयɉ का èकूल, एक सीमɅट 

का छोटा-सा कारखाना, दो ओपन एयर िसनेमाघर और एक ठो नगरपािलका भी थी। नगरपािलका थी 

तो कुछ न कुछ करती भी रहती थी। कभी कोई सड़क पÈकȧ करवा दȣ, कभी कुछ पशेाबघर बनवा 

Ǒदए, कभी कबूतरɉ कȧ छतरȣ बनवा दȣ तो कभी कǒव सàमेलन करवा Ǒदया। इसी नगरपािलका के 

Ǒकसी उ×साहȣ बोड[ या Ĥशासिनक अिधकारȣ ने एक बार ‘शहर’ के मÉुय बाजार के मुÉय चौराहे पर 

नेताजी सुभाषचंġ बोस कȧ एक संगमरमर कȧ Ĥितमा लगवा दȣ। यह कहानी उसी Ĥितमा के बारे मɅ 

है, बǔãक उसके भी एक छोटे-स ेǑहèसे के बारे मɅ। 

 

 

 (क) हालदार साहब कèबे के Ǒकस भाग स ेगुजरते थे? 

    (A)  जहा ँमुÉय बाजार ǔèथत था। 
    (B)  जहाँ चæमɉ का काम होता था। 
    (C)  जहाँ गाँधी जी कȧ Ĥितमा Ǒदखाई देती थी। 

    (D)  जहा ँनेताजी सुभाषचंġ बोस कȧ Ĥितमा Ǒदखाई देती थी। 
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(ख) कèबे कȧ ǔèथित कैसी थी? 

    (A)  वहाँ के सभी लोग सरकारȣ कम[चारȣ थे। 
    (B)  कèबे मɅ बड़े-बड़े कॉलेज और कई कारखाने थे। 
    (C)  वहा ँबड़े-बड़े उÍच गुणवƣा के मकान और बाजार था। 

    (D)  वहाँ मÚयम Ĥकार के एक पÈके मकान और एक छोटा-सा बाजार था। 
 
 

 

 (ग) कèब ेमɅ नगरपािलका कȧ Èया भूिमका थी? 

    (A)  कèबे मɅ लगातार छोटे-मोटे काम करवाती रहती थी। 
    (B)  èकूल और िसनेमाघर का िनमा[ण करवाती रहती थी। 
    (C)  शहर के चौराहɉ पर केवल Ĥितमाएँ बनाती रहती थी। 
    (D)  सèुत थी और Ǒकसी भी काय[ को पूरा नहȣं करती थी। 
 

 

 (घ) नेताजी कȧ मूित[ कहा ँऔर Èयɉ लगी थी? 

  कथन के िलए उिचत ǒवकãप का चयन कȧǔजए- 

   (i) कèबे के मुÉय बाज़ार मɅ  
   (ii) बाज़ार के मुÉय चौराहे पर  

   (iii) हर आने-जाने वाले åयǒƠ कȧ नज़र पड़ते रहने के कारण  

   (iv) हालदार साहब के कारण  
 
 

 

 ǒवकãप: 

   (A)  कथन (ii) सहȣ है।                               
   (B)  कथन (i) व (ii) सहȣ हɇ।        
   (C)  कथन (i), (iii) व (iv) सहȣ हɇ। 

  (D)  कथन (i), (ii) व (iii) सहȣ हɇ। 
 
 

 

 

 (ङ) हालदार साहब हर पġंहवɅ Ǒदन कèबे से Èयɉ गुजरते थे? 

    (A)  कèबे कȧ िनगरानी करने 
    (B)  कèबे मɅ चौराहे पर घूमने 
    (C)  कंपनी के काम के िसलिसले मɅ 
    (D)  कèबे मɅ लगी नेताजी कȧ मूित[ देख-रेख करने 
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8. Ǒदए गए Ĥưɉ के सवा[िधक उपयुƠ उƣर वाल ेǒवकãप का चयन करके िलǔखए:- 
 

1X2=2 

 (क) धान कȧ रोपाई के वƠ भगत ऐसा Èया करते Ǒक सभी मɅ उãलास भर जाता? 
 

 कथन के िलए उिचत ǒवकãप का चयन कȧǔजए- 
 

  (i)  झूमने लगते 
  (ii)  èवयं गाने लगते 

  (iii) धान कȧ रोपनी करते 
  (iv) अपना जादईु संगीत सुनाते     
 

  ǒवकãप: 

  (A) कथन (ii) सहȣ है।                                            
  (B) कथन (i) व (ii) सहȣ हɇ।                                           

  (C) कथन (i) व (iii) सहȣ हɇ। 

  (D) कथन (i), (iii) व (iv) सहȣ हɇ।  
 
 

 

 (ख) कैÜटन के चǐरğ Ʈारा लखेक ने Ǒकसे èमरण करने का Ĥयास Ǒकया है? 

    (A)  छोटे-छोटे बÍचɉ को 
    (B)  चæमे वाले और सैिनकɉ को 
    (C)  चौराहे पर पान बचेने वाले को 
    (D)  देशǑहत के िलए काय[ करने वाले देशभƠɉ को 
 

 

9. िनàनिलǔखत पǑठत काåयांश पर आधाǐरत बहुǒवकãपी Ĥưɉ के सवा[िधक उपयƠु ǒवकãप चुनकर 
िलǔखए:- 
 

1X5=5 

 हमारɇ हǐर हाǐरल कȧ लकरȣ। 
मन Đम बचन नंद-नंदन उर, यह Ǻढ़ कǐर पकरȣ। 
जागत सोबत èवÜन Ǒदवस-िनिस,  काÛह- काÛह जक रȣ। 
सुनत जोग लागत है ऐसौ, Ïयɉ कǽई ककरȣ। 
सु तौ Þयािध हमकɋ ल ैआए, देखी सुनी न करȣ। 
यह तौ ‘सूर’ ितनǑहं  लै सɋपौ, ǔजनके मन चकरȣ।। 
 

 

 (क) ‘हमारɇ हǐर हाǐरल कȧ लकरȣ’ पǒंƠ मɅ ‘हाǐरल कȧ लकरȣ’ Ǒकसे कहा गया है? 

    (A)  गोǒपयɉ को 
    (B)  Įीकृçण को 
    (C)  उƨव को 
    (D)  1 और 2 दोनɉ 
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(ख) ‘ितनǑहं  लै सɋपौ’ पǒंƠ मɅ Ǒकसकȧ ओर संकेत Ǒकया गया है? 

(A)  जो भाषण देते हɇ 
(B)  ǔजनका मन ǔèथर है 

(C)  जो योग का संदेश देते हɇ                                         
(D)  ǔजनका मन चकरȣ के समान चंचल है          
    
 

 

 (ग) गोǒपयाँ योग कȧ िश¢ा Èयɉ नहȣं लेना चाहती थी? 

    (A)  ÈयɉǑक उनके ǿदय मɅ कृçण बसे हुए थे। 
    (B)  ÈयɉǑक उसके पास पहले से योग कȧ िश¢ा थी। 
    (C)  ÈयɉǑक वह अपने-अपने काय[ मɅ बहुत åयèत थी। 
    (D)  ÈयɉǑक वे योग कȧ िश¢ा Įी कृçण से लेना चाहती थी। 
 
 

 

 (घ) योग का नाम सुनते हȣ गोǒपयɉ को कैसा लगता है? 

    (A)  जसैे पैरɉ मɅ काँटा चुभ गया हो। 
    (B)  जैसे Įी कृçण उनके पास आ गए हो। 
    (C)  जैसे कानɉ मɅ मधुर रस घुल गया हो। 
    (D)  जसैे उनके मुँह मɅ कड़वी ककड़ȣ चली गई हो। 
 
 

 

 (ङ) ‘देखी सुनी न करȣ’ पंǒƠ मɅ गोǒपयाँ Èया कहना चाहती है?  

    (A)  गोǒपयाँ Įी कृçण के पास जाना चाहती थी। 
    (B)  गोǒपयɉ को उƨव से योग कȧ िश¢ा लेनी है। 
    (C)  गोǒपयɉ ने योग के बारे मɅ न तो कभी सुना है और न हȣ Ǒकया है। 
    (D)  गोǒपयɉ ने उƨव के बारे मɅ न तो कभी सुना है और न हȣ उसे देखा है। 
 

 

10. Ǒदए गए Ĥưɉ के सवा[िधक उपयुƠ उƣर वाल ेǒवकãप का चयन करके िलǔखए:- 

 

1X2=2 

 (क) ‘उ×साह’ कǒवता के आधार पर बताइए Ǒक नूतन कǒवता कैसी होनी चाǑहए? 

    (A)  वषा[ करने वाली 
    (B)  शीतलता Ĥदान करने वाली  
    (C)  सǒृƴ का िनमा[ण करने वाली 
    (D)  संपूण[ संसार मɅ जोश भर देने वाली 
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 (ख) ‘आ×मकØय’ कǒवता के संदभ[ मɅ Ǒदये गये कथनɉ को पढ़कर उपयुƠ ǒवकãप का चयन करके 

    िलǔखए:- 

    कथन   

    (i)  असहमित के तक[  से पैदा हुई कǒवता है। 
    (ii)  छायावादȣ शैली मɅ िलखी गयी कǒवता है। 
    (iii)  कǒव कȧ अितशयोǒƠपूण[ भाव को åयƠ करती है। 
    (iv) कǒव कȧ यथाथ[ èवीकृित और ǒवनĨता को Ĥकट करती है। 
    ǒवकãप 

    (A)  i, ii और iii सहȣ हɇ, परंतु iv ग़लत है। 
   (B)   i, ii और iv सहȣ हɇ, परंतु iii ग़लत है।   
   (C) i और ii सहȣ हɇ, परंत ुiii और iv ग़लत हɇ।   

   (D)  i और iii ग़लत हɇ, परंतु ii और iv सहȣ हɇ। 
 

 

 खडं-ब (वण[ना×मक Ĥư) 
 
 

 

11. िनàनिलǔखत Ĥưɉ मɅ से ǑकÛहȣं तीन Ĥưɉ के उƣर लगभग 25 स े30 शÞदɉ मɅ िलǔखए 

 

2X3=6 

 (क) मूित[ बनाने के िलए èथानीय कलाकार को हȣ अवसर देने का फैसला Èयɉ िलया गया होगा?   

    पǑठत अÚयाय ‘नेताजी का चæमा’ के आधार पर अपने ǒवचार िलǔखए। 
 

 

 (ख) बालगोǒबन भगत का अपने खेत कȧ पैदावार को कबीरपंथी मठ पर जाकर चढ़ा देना उनकȧ      

    Ǒकस मानिसकता को Ĥकट करता है? 
 

 

 (ग) नवाब साहब का खीरा खाने का ढंग पारंपǐरक ढंग से Ǒकस तरह अलग था? èपƴ कȧǔजए। 
 

 

 (घ) ‘उनका बटेा बीमार है इसकȧ खबर रखने कȧ लोगɉ को कहाँ फुरसत थी’ - इस कथन Ʈारा लेखक   

    ने वत[मान समाज कȧ Ǒकस åयावहाǐरक मानिसकता को उजागर Ǒकया है? 
 

 

12. िनàनिलǔखत Ĥưɉ मɅ से ǑकÛहȣं तीन Ĥưɉ के उƣर लगभग 25 से 30 शÞदɉ मɅ िलǔखए- 2X3=6 

 (क) पǑठत अÚयाय के आधार पर िलǔखए Ǒक कृçण Ĥेम मɅ गोǒपयɉ कȧ मनोदशा कैसी हो गयी थी?  

 (ख) परशुराम के Đोध करने पर राम कȧ जो ĤितǑĐया हुई, उसके आधार पर उनकȧ ǒवशेषता अपने  
       शÞदɉ मɅ िलǔखए। 
 

 

 (ग) ‘आ×मकØय’ अÚयाय के आधार पर कǒव अपने जीवन कȧ दबु[लताओं को Èयɉ नहȣं बताना            
     चाहता है?       

 

 (घ) ‘उ×साह’ कǒवता मɅ कǒव ने बादल के Ǒकन Ǿपɉ कȧ चचा[ कȧ है? èपƴ करके िलǔखए। 

 

 

13. िनàनिलǔखत Ĥưɉ मɅ से ǑकÛहȣं दो Ĥưɉ के उƣर लगभग 50 स े60 शÞदɉ मɅ िलǔखए:- 4X2=8 

 (क) ‘माता का अचँल’ अÚयाय के आधार पर िलǔखए Ǒक बÍचे माता-ǒपता के Ĥित अपने Ĥेम को कैसे   
    अिभåयƠ करते हɇ।  
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 (ख) मनुçय अधंाधुधं व¢ृɉ कȧ कटाई तथा नǑदयɉ के जल को दǒूषत कर रहा है। पहाड़ɉ को पय[टन èथल     
    बनाकर Ĥदषूण फैला रहा है, मनçुय अपनी सुख-सुǒवधाओं के िलए Ĥकृित को अ×यिधक नुकसान   

    पहँुचा रहा है। इसे रोकने मɅ आपकȧ Èया भूिमका होनी चाǑहए? ‘साना- साना हाथ जोǑड़’ अÚयाय के   

    आधार पर बताइए। 
 

 

 (ग) सभी लोग िमल-जलु कर रहते हɇ तथा Ĥकृित के करȣब हɇ। बÍचे शारȣǐरक खेल खेलते हɇ। अपन े

    पǐरवार के साथ घुल िमलकर रहते हɇ। ‘माता का अचँल’ पाठ मɅ Ēामीण पǐरवेश के िचğण को दशा[ते  

    हुए पाठ के आधार पर शहरȣ और Ēामीण जीवन के अंतर को èपƴ कȧǔजए। 
 

 

 

14. िनàनिलǔखत ǒवषयɉ मɅ स ेǑकसी एक ǒवषय पर लगभग 120 शÞदɉ मɅ अनुÍछेद िलǔखए:-   6X1=6 

 (क) चंġयान-3 का Ĥ¢ेपण 

    संकेत ǒबंद-ु Ĥèतावना, उƧेæय, सफलता, भारत का अतंǐर¢ ǒव£ान मɅ बढ़ते चरण, िनçकष[। 

 

 (ख) Üलाǔèटक मुƠ भारत 

    संकेत ǒबंद-ु  भूिमका, सरकार के फैसले, Üलाǔèटक मुƠ भारत मɅ हमारा योगदान 

 

 (ग) दलु[भ होता है अÍछा िमğ 

    संकेत ǒबंद-ु Ĥèतावना, अÍछा िमğ कौन?, Èयɉ होता है दलु[भ?, कैसे करɅ चुनाव?, उपसंहार। 
 

 

15. आपके शहर मɅ बढ़ रहȣ सड़क-दघु[टनाओं के Ĥित िचंता Ĥकट करते हुए Ǒकसी दैिनक समाचारपğ के 

संपादक को लगभग 100 शÞदɉ मɅ पğ िलǔखए।  

5X1=5 

 अथवा,  

 आपके छोटे भाई को पढ़ाई के साथ-साथ चलने वाली अितǐरƠ गितǒविधयɉ मɅ भाग लेने मɅ ǽिच 

नहȣं है। उस ेलगभग 100 शÞदɉ मɅ एक पğ Ʈारा ऐसी गितǒविधयɉ से होने वाले लाभ को बताते हुए 

उनमɅ भाग लेने के िलए Ĥेǐरत करɅ।                 

 

16. आपको अकèमात शहर से बाहर जाना पड़ रहा है। इसकȧ सूचना बताते हुए ǒवƭालय के Ĥाचाय[ को 

लगभग 80 शÞदɉ मɅ ई–मेल  िलǔखए  

5X1=5 

 अथवा,  

 आप अिमत/अǑंकता हɇ। आपको आदश[ कÛया ǒवƭालय, पटना मɅ िलǒपक के ǐरƠ पद के िलए आवेदन 

करना है। इसके िलए लगभग 80 शÞदɉ मɅ èववƣृ तैयार कȧǔजए। 

 

 

17. आपके शहर मɅ ǒवराट हाèय कǒव सàमेलन आयोǔजत होने जा रहा है। इसमɅ देश के Ĥिसƨ हाèय 

कǒव आमंǒğत हɇ। इसके Ĥचार के िलए एक ǒव£ापन लगभग 60 शÞदɉ मɅ तैयार कȧǔजए। 

4X1=4 

 अथवा,  

 अपने िमğ को दȣपावली कȧ  शुभकामना  देने के िलए लगभग 60 शÞदɉ मɅ एक शुभकामना- संदेश 

िलǔखए। 

 

***** 
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D. A. V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST II 

SESSION 2023-2024 

 

CLASS : X                             MAXIMUM MARKS : 80 

SUBJECT : MATHEMATICS                                                    TIME : 3 Hrs. 
 

General instructions : 

Read the following instructions carefully and follow them : 

(i) This question paper contains 6 printed pages and consists of 38 questions divided into 

five Sections – A, B, C, D and E. 

(ii) All questions are compulsory. 

(iii) Section A has 20 MCQs carrying 1 mark each.  

(iv) Section B has 5 very short answer (VSA) type questions of 2 marks each. 

(v) Section C has 6 short answer (SA) type questions of 3 marks each.  

(vi) Section D has 4 long answer (LA) type questions of 5 marks each. 

(vii) Section E has 3 case-based integrated units of assessment (4 marks each) with subparts 

of the values of 1, 1 and 2 marks each respectively. 

(viii) There is no overall choice. However, an internal choice has been provided in two 

questions of 2 marks each, two questions of 3 marks each and 2 questions of 5 marks 

each. An internal choice has been provided in the 2 marks questions of Section E. You 

have to attempt only one of the alternatives in all such questions.      

(ix) Draw neat diagrams wherever required. Take 𝜋 = 22/7 wherever required, if not 

stated. 

     

SECTION A 

 

This section comprises multiple choice questions (MCQs) of 1 mark each. 

 

1. The LCM of smallest two-digit composite number and smallest composite number 

is : 

(a) 12                    (b) 4                    (c) 20                    (d) 44 

1 

2. If one of the zeros of a polynomial (k2 – 1)x2 – 5x + 1 is reciprocal of other then 

the value of k is : 

(a) 0                      (b) 2 and –2         (c) 1 and –1           (d)  √2 and −√2 

1 

3. The pair of equations x + a = 0 and y = b graphically represents lines which are : 

 (a) intersecting at (a, b)                    (b) intersecting at (–a, b) 

 (c) intersecting at (–b, a)                  (d) parallel to each other. 

1 

4. In triangles ABC and DEF, B = E, F = C and AB = 3DE. Then the two 

triangles are : 

(a) congruent but not similar.            (b) similar but not congruent. 

(c) neither congruent nor similar.      (d) congruent as well as similar. 

1 

5. If point A (
𝑡

3
, 5) is the mid-point of the line segment joining the points Q (–6,7) 

and R (–2,3), then the value of t is : 

(a) –12                  (b) – 4                  (c) 12                     (d) – 6 

1 



2 
 

6. The two legs AB and BC of right triangle ABC are in the ratio 1 : 3. What will be 

the value of sin C? 

(a) √10                 (b) 
1

√10
                 (c) 

3

√10
                   (d) 

1

3
  

1 

7. Which one among the following regarding probability of an event P (E) is not 

correct? 

(a) P (E) + P (not E) = 1     (b) 0  P (E)  1 

(c) P (E) = 5%                    (d) P (E) = 1.2 

1 

8. If the LCM of a and 18 is 36 and HCF of a and 18 is 2 then a = 

(a) 1               (b)  2                      (c)  4                         (d)  6            

1 

9. If  and  are zeros of the polynomial 5x2 – 7x + 2, then the sum of their reciprocals 

is : 

(a) 
7

2
               (b)    

14

3
                     (c)  

7

5
                          (d)  

2

5
 

1 

10. The value of k for which the system of equations 2𝑥 + 𝑘𝑦 = 12, 𝑥 + 3𝑦 − 4 = 0 

are inconsistent is : 

(a) 6                (b) 
1

6
               (c) 

21

4
                        (d) 

4

21
 

1 

11. In the given figure, XY ‖ QR, 
𝑃𝑄

𝑋𝑄
=

7

3
 and PR= 6.3 cm. The 

value of YR is :  

(a) 2.5 cm      (b) 2.7 cm 

(c) 3 cm         (d) none of these. 

1 

12. The distance between two points, M and N, on a graph is given as √102 +  72. 

The coordinates of point M are (−4, 3). Given that the point N lies in the first 

quadrant, which of the following is true about the all-possible x coordinates of 

point N? 

(a) They are multiple of 3                    (b) They are multiple of 4                       

(c) They are multiple of 5                    (d) They are multiple of 7 

1 

13. If sin (A + B) = 1 = cos (A – B) then : 

(a) A = B = 90°       (b) A = B = 0°    (c) A = B = 45°        (d) A = 2B 

1 

14. If a number x is chosen from the numbers 1, 2, 3 and a number y is selected from 

the numbers 1, 4, 9. Then, P (xy < 9) is : 

(a) 
3

9
                         (b) 

4

9
                     (c) 

1

9
                         (d) 

5

9
 

1 

15. The zeroes of the polynomial x2 – 3x – m(m – 3) are 

(a) m, m + 3            (b) – m, m + 3     (c) m, – (m – 3)       (d) – m, – (m + 3)  

1 

16. For which value(s) of p will the lines represented by following pair of linear 

equations be parallel : 3x – y – 5 = 0 and 6x – 2y – p = 0. 

(a) All real values except 10      (b)  10        (c)    
5

2
                     (d) 

1

2
 

1 

17. If  3 tan  = 2 sin , then the value of sin2  – cos2  is : 

(a) 
1

2
                        (b) 

−1

2
                             (c) 

−3

2
                      (d) 

3

 2
 

1 

18. In a family of three children the probability of having at least one boy is : 

(a)  
7

8
                      (b)    

1

8
                               (c)  

1

5
                       (d)  

1

3
         

1 



3 
 

Questions number 19 and 20 are Assertion and Reason based questions carrying 1 mark 

each. Two questions are given, one labelled as Assertion (A) and the other is labelled as 

Reason (R). Select the correct answer to these questions from the codes (a), (b), (c) and (d) 

as given below. 

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct 

explanation for Assertion. 

(b) Both Assertion (A) and Reason (R) are correct but Reason (R) is not the correct 

explanation for Assertion. 

(c) Assertion (A) is true but the Reason (R) is false. 

(d) Both Assertion (A) and Reason (R) are false. 

 

19. Assertion (A) : The distance between the points (2 cos 60º, 0) and (0, 2 sin 30º) is 

2 unit. 

Reason (R) : The distance between two points (x, y) and (z, w) is equal to 

√(𝑧 − 𝑥)2 + (𝑤 − 𝑦)2 

 

1 

20. Assertion (A) : If LCM of two numbers 26 and 91 is 182 then their HCF is13. 

Reason (R) : LCM  product of two numbers = HCF of two numbers. 

1 

 

SECTION-B 

 

This section comprises very short answer (VSA) type questions of 2 marks each. 

 

21. A letter of English alphabets is chosen at random. Determine the probability of 

getting a consonant. 

2 

 

22. If cosec A = √2 , then find the value of  
2 𝑠𝑖𝑛2𝐴 + 3 𝑐𝑜𝑡2𝐴

4 𝑡𝑎𝑛2𝐴 − 𝑐𝑜𝑠2𝐴
 . 

                                                           OR 

Prove that : 1+ 
𝑐𝑜𝑡2𝛼

1+𝑐𝑜𝑠𝑒𝑐𝛼
 = cosec𝛼. 

 

2 

 
 

 

23. In the given figure, if DE∥ 𝐴𝐵, find x. 2 

24.  and  are zeros of the quadratic polynomial x2 – (k + 6)x + 2 (2k – 1). Find the 

value of k if 𝛼 + 𝛽 =
1

2
𝛼𝛽. 

OR 

Form a quadratic polynomial whose zeros are 
3−√3

5
 and 

3+√3

5
 . 

2 

 
 

 

 

25. A bag contains 5 red balls and some blue balls. If the probability of drawing a blue 

ball is double that of a red ball, find the number of blue balls in the bag. 

2 
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SECTION C 

 

This section comprises short answer (SA) type questions of 3 marks each. 

 
 

26. Prove that √2 + √5 is irrational. 
 

3 

27. If (x – k) is the HCF of (2x2 – kx – 9) and (x2 + x – 12), find the value of k. 3 

28. D is the mid-point of side BC of ABC and E is the mid-point of AD. BE produced 

meets AC at the point M. Prove that BE = 3EM. 

OR 

A boy of height 150 cm is walking away from the base of a lamp-post at a speed 

of 1.6 m/s. If the lamp is 4.5 m above the ground find the length of his shadow 

after 5 seconds.  

3 

29. Show that the points A (2,3), B (3,4), C (5,6) and D (4,5) are the vertices of a 

parallelogram. 

OR 

Find the coordinates of the points which divide the line segment joining the points 

(5, 7) and (8, 10) in 3 equal parts. 

3 

 

30. Prove the following identity : 
tan 𝐴 + 𝑠𝑒𝑐 𝐴 − 1

tan 𝐴 − 𝑠𝑒𝑐 𝐴 + 1
 = 

1 + sin 𝐴

cos 𝐴
 

 

3 

31. All cards of ace, jack and queen are removed from a deck of playing cards. One 

card is drawn at random from the remaining cards, find the probability that the card 

drawn is : 

(a) a king card. 

(b) a spade card. 

(c) either a heart or a spade card. 

 

3 

 

SECTION D 

 

This section comprises long answer (LA) type questions of 5 marks each. 

 

 

32. In ABC, AM ⟂ BC. If tan B = 
3

4
, tan C = 

5

12
 and BC = 56 cm, find the length of 

AM. 

OR 

If cot  + tan  = x and sec  – cos  = y, prove that : (𝑥2𝑦)
2

3 − (𝑥𝑦2)
2

3 = 1. 

5 

 

 
 

 

 

33. Prove that if a line is drawn parallel to one side of a triangle to intersect the other 

two sides in distinct points, the other two sides are divided in the same ratio. 

5 

34. A number consist of three digits whose sum is 17. The middle one exceeds the 

sum of the other two by 1. If the digits be reversed, the number is diminished by 

396. Find the number. 

OR 

Draw the graph of the following equations on the same graph paper. 

2𝑥 + 𝑦 = 2;  2𝑥 + 𝑦 = 6. 

Find the coordinates of the vertices of the trapezium formed by these lines and the 

axes of coordinates. Also, find the area of the trapezium so formed. 

5 

 

 

 

 



5 
 

35. Three sets of English, Hindi and Mathematics books have to be stacked in such a 

way that all the books are stored topic wise and the height of each stack is the 

same. The number of English books is 96, the number of Hindi books is 240 and 

the number of Mathematics books is 336. Assuming that the books are of the same 

thickness, determine the number of stacks of English, Hindi and Mathematics 

books.  

5 

 

 

SECTION E 
 

This section comprises 3 case study based questions of 4 marks each. 

 

 

36. Case study – 1  

The figure given below shows the path of a diver, when she takes a jump from the 

diving board. Clearly it is a parabola. 

Annie was standing on a diving board, 48 feet above the water level. She took a 

dive into the pool. Her height (in feet) above the water level at any time ‘t’ in 

seconds is given by the polynomial ℎ(𝑡) = − 16 𝑡2 + 8𝑡 + 𝑘. 

Based on above information answer the following questions. 

(a) What is the value of k? 

(b) At what time will she touch the water in the pool? 

(c) Rita’s height (in feet) above the water level is given by another polynomial 

p(t) with zeroes −1 and 2, then find p(t). 

OR 

A polynomial q(t) with sum of zeroes as 1 and the product as −6 is modelling 

Anu’s height in feet above the water at any time t (in seconds). Then find q(t). 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
1 

 

1 

2 

 

 

 

37. Case study – 2  

Palak went to mall with her mother and enjoys rides on the giant wheel and plays 

hoopla (a game in which you through a ring on the items kept in stall and if the 

ring covers any object completely you get it). The number of times she played 

hoopla is half the number of times she rides the giant wheel. If each ride costs Rs. 

3 and a game of hoopla costs Rs. 4 and she spent Rs. 20 in the fair. 
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Based on above information answer the following questions. 

(a) Write the representation of given statement algebraically. 

(b) Graphically, if the pair of equations intersect at one point, then check whether 

the pair is consistent or inconsistent. 

(c) Find the intersection point of the two lines. 

OR 

Find the intersection points of the line 3x + 4y = 20 on x-axis and y-axis. 

 

 

 

1 

1 

 

2 

 

 

38. Case study – 3  

Spreading awareness on plastics use:   

Students of D.A.V. Institutions, West Bengal zone undertook a campaign, “Say 

no to Plastics”. Group A took the region under the coordinates P (3, 3), Q (6, y), 

R (x, 7) and S (5, 6) and Group B took the region under the coordinates W (1, 3), 

X (2, 6), Y (5, 7) and Z (4, 4). 

 

 

 

 

 

 

 

 

 

Based on the above information, answer the following : 

(a) If region covered by group A forms a parallelogram, where the coordinates 

are taken in the given order, then find the values of x and y. 

(b) Hence, find the coordinates of the point which divides the line segment QS in 

the ratio of 2 : 3. 

(c) If the region covered by group B forms a quadrilateral, where the coordinates 

are taken in the given order, then find the length of each of the diagonals. 

OR 

If the region covered by group B forms a rhombus, where the coordinates are 

taken in the given order, then find the perimeter of the rhombus. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 

 

2 
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D.A.V. INSTITITIONS, WEST BENGAL ZONE 
PERIODIC TEST ll  
SESSION 2023-2024  

CLASS: X              MAXIMUM MARKS: 80 

SUBJECT: COMMUNICATIVE SANSKRIT (119)     TIME: 3 HOURS 

 
सामाÛयǓनदȶशाः - 
1. कृपया सàयÈतया परȣ¢ण ंकुव[Ûतु यत ्अिèमन ्Ĥæनपğे 10 पçृठाǓन मǑुġताǓन सिÛत। 
2. कृपया सàयÈतया परȣ¢ण ंकुव[Ûतु यत ्अिèमन ्Ĥæनपğे 18 Ĥæनाः सिÛत।  
3. अिèमन ्Ĥæनपğे च×वारः खÖडाः सिÛत। 
ĤæनपğèवǾपम-् 

खÖडः 'क'              :            अपǑठतावबोधनम ्                                            10   अɨकाः  

खÖडः 'ख'              :            रचना×मककाय[म ्                                             15   अɨकाः 

खÖडः 'ग'               :           अनुĤयुÈतåयाकरणम ्                                       25   अɨकाः  

खÖडः 'घ'               :           पǑठतावबोधनम ्                                                30   अɨकाः 
 
4. Ĥ×येकं खÖडम ्अͬधकृ×य उƣराͨण एकिèमन ्èथाने Đमेण लेखनीयाǓन। 
5. उƣरलेखनात ्पूवɍ Ĥæनèय Đमाɨकः अवæयं लेखनीयः।  
6. Ĥæनèय Đमाɨकः Ĥæनपğानुसारम ्एव लेखनीयः। 
7. सवȶषां Ĥæनानाम ्उƣराͨण संèकृतेन लेखनीयाǓन। 
8. Ĥæनानां Ǔनदȶशाः Úयानेन अवæयं पठनीयाः। 

   

 

1.  

 

 

 

 

 

 

 

 

 

खÖडः -‘क’  अपǑठत-अवबोधनम ्    (10 अɨका:)  

अधोͧलͨखतं गɮयांशं पǑठ×वा ĤदƣĤæनानाम ्उƣराͨण सèंकृतेन ͧलखत- 

èवèथं पया[वरणं अèमाकं जीवनèय आधारः अिèत। पया[वरणèय च आधाराः 

पुिçपता: पãलͪवताः व¢ृाः भविÛत। Ĥ×येक Ĥाणी æवसनͩĐयायां आÈसीजनवायु ं

गéृणाǓत। काब[न-डाइऑÈसाइड-वायुं बǑहः ͪवसजृǓत। व¢ृाणाम ् æवसनͩĐया तु 

मानवानां ͪवपरȣता अिèत। अतः अनया पया[वरणं èवèथं भवǓत। व¢ृाः पया[वरण ं 

सÛतुͧलतं कुव[िÛत। ते यथाकालम ्मेघानां वष[णे सहायकाः भविÛत। व¢ृाः भूमेः 

जलं गéृणिÛत। अèय जलèय ͩकिÑचत ्भागं ते ͪपबिÛत। अवͧशçटं जलं वाçपǾपे 

पğाणां रÛĢेßयः बǑहः Ǔनग[ÍछǓत। इदं जलं मेघाना ंǓनमा[ण ेसहायकं भवǓत। भूमौ 

पǓतताǓन तेषां पğाͨण पुçपाͨण च अǓतǐरÈतं जलं मदंृ च åयथɍ वहनात ्

अवǽÛधिÛत। इ×थम ्ते भूमये  पया[Üयं जलं Ĥदाय तèयाः उव[राशिÈत ंवध[यिÛत। 

 

10  

 

 

 

 

 

 

 

 

 



2 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

2. 

 
 

 

 

 

 
 

 

 

व¢ृाः पुçपाणा ंफलानाम ्औषधीनां च आगाराः सिÛत। व¢ृपादपानां हरȣǓतमा तेषा ं

पçुपाणा ंशोभा, पͯ¢णां कलरवः च शुçकǿदयान ्अͪप रसͪवभोरान ्कुव[िÛतI  

अ)  एकपदेन उƣरत – (केवलं Ĥæनɮवयम ्)                        

 (i) पुिçपता: व¢ृाः कèय आधाराः? 

 (ii) अवͧशçटं जल ंकिèमन ्Ǿपे बǑहः Ǔनग[ÍछǓत? 

 (iii) व¢ृा: पया[वरणं ͩकम ्कुव[िÛत? 

आ)  पूण[वाÈयेन उƣरत – (केवलं Ĥæनɮवयम ्)                                                          

  (I) भूमौ पǓतताǓन पğाͨण पुçपाͨण च ͩकम ्कुव[िÛत?         

  (ii) Ĥ×येक Ĥाणी ͩकं गéृणǓत ͩकं च ͪवसजृǓत?                         

  (iii) व¢ृा: केषां आगाराः सिÛत? 

इ) अèय अनुÍछेदèय कृते उपयुÈतं शीष[कं संèकृतेन ͧलखत।          

ई) यथाǓनदȶशम ् उƣरत- ( केवलं Ĥæनğयम ्)                                

(i) 'èवèथम ्' इǓत ͪवशेषणपदèय ͪवशेçयपद अğ ͩकम ्ĤयुÈतम?् 

(क) जलम ्       (ख) व¢ृाः      (ग) पया[वरणम ्      (घ) जीवनम ्  

(ii) ‘दानवानां’ इ×यèय ͩकं ͪवलोमपदम ्अğ ĤयुÈतम?् 

(क) मानवानां     (ख) पादपानां    (ग) मेघानां          (घ) पया[वरणम ्    

(iii) ‘गéृणिÛत’ इǓत ͩĐयापदèय कतृ[पदं ͩकम?् 

(क) पğाͨण       (ख) व¢ृा:       (ग) मेघाः           (घ) जलम ्        

(iv) ‘Ǔछġेßयः' इǓत पदèय पया[यपदं गɮयांशे ͩकम ्ĤयुÈतम?् 

(क) पğेßयः       (ख) जलेßयः     (ग) रÛĢेßयः        (घ) व¢ेृßयः     

खÖडः - ‘ख’  रचना×मक-काय[म ्   (15 अɨका:) 

भवतः ͧमğèय संèकृतभाषायां ǽͬचः वत[ते, तèय उ×कÖठां शमǓयतुं ͧलͨखतं इदं 

पğं मÑजषूायां दƣःै पदैः पूरǓय×वा पुनः उƣरपुिèतकाया ंͧलखत -                          

49 Ēेटर कैलाश 

i)-------------- 

Ǔतͬथ: -__________ 

ͪĤय ͧमğ 

(ii) ----------- !  

सĤेम नमोनमः।   

       अɮय मया (iii)----------- पğं ĤाÜतम।् संèकृतͪवषये तव अͧभǽͬच ं

(iv) --------- ĤसÛनः जातः । संèकृतभाषा सवा[सां (v)------------- जननी अिèत। 

 

 

 

1x2=2 

 

 

 

2x2=4 

 

 

 

1 
 

1x3=3 

 

 

 

 

 

 

 

 
 

(½ x 10 = 5) 

 

 

 

 

 

 

 

 

 
 



3 
 

 

 

 

 

 

 

 

 

 

 
3. 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 
 

 

4.  

 

 

 

पाͨणनेः åयाकरणèय उपयोग: (vi)---------- (कàÜयूटर) अͪप अिèत। अèयाः 

ͪवशालः शÞदकोषः अɮͪवतीयः अिèत। समɮृध-संèकृत-साǑह×यèय वैभवं        

(vii)------------- अिèत। अधुना वैदेͧशक-ͪवɮवांसः अͪप (viii)----------- महǂवं 

èवीͩĐयÛते। मनोयोगेन ×व ं संèकृतभाषायाः (ix)-------------- कुǽ इǓत मम 

Ǔनवेदनम।्। 

शेषमğ कुशलम।् शीēं Ĥ×युƣरं Ĥेषय। 

तव......( x)  

ͪवĐमः। 

मÑजषूा- संगणकयÛğे, £ा×वा, अÚययनम ्, ͧमğम,् नवǑदãलȣतः, तव, 

सèंकृतभाषायाः, भाषाणाम,् अभूतपूव[म,् अǽण 

Ĥदƣ ं ͬचğं Ǻçɪवा मÑजूषायां ĤदƣशÞदानां सहायतया पÑचवाÈयाǓन संèकृतेन 

ͧलखत-  

 

 

 

 

 

 

 

 

मÑजूषा = इदं, ͬचͩक×सकः, Ǔनरȣ¢णम,् ददाǓत, औषधम,् ǽÊणौ, पæयिÛत, 
माताͪपतरौ, जलपाğम,् ͬचͩक×सालयèय, अिèत, ǽÊणाय, करोǓत | 

अथवा 

‘मÑजषूाĤदƣशÞदानां साहाáयेन Ǔनàनͧलͨखतं ͪवषयं अͬधकृ×य पÑचͧभ: 

संèकृतवाÈयै: एकम ् अनुÍछेदं ͧलखत-                                                                   

‘जलĤदषूणम'् 

मÑजषूा - जलं, अवकरं,  जना:, ͯ¢पिÛत, मͧलनं, हाǓनकरं, ͪपबिÛत, पशु:, 

पͯ¢णः  

अधोͧलͨखत-संवादं मÑजूषाया ंĤदƣपदाना ंसहायतया पूरयत – 

खगः – हे (i)______ ! ×वं कुğ  गÍछͧस? 

बालकः - अहं (ii)______गÍछाͧम। ×वं ͩकं करोͪष? 

खगः - अहं (iii)______ͪवचराͧम। 
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बालकः - अहमͪप (iv) _______ͪवचǐरतुम ्इÍछाͧम। परं मम (v)________न 

सिÛत। 

खगः - ×व ं (vi)_______ कथं न गÍछͧस? ĤǓतǑदनम ्आकाशे वायुयानाǓन 

(vii) _____। 

बालकः - ͬचÛतयाͧम यदा अहं वयèकः भͪवçयाͧम तदा (viii)________ 

भͪवçयाͧम।  

खगः - उƣमः सɨकãपः। (ix)______ अèतु । 

बालकः – (x)______। 

मÑजषूा:- गगने, धÛयवादाः, शुभम,् ͪवɮयालयम,् बालक, प¢ाः, आकाशे, 

वायुयानचालकः,  गÍछिÛत, वायुयानेन 

अथवा 

ǐरÈतèथानाǓन पूरǓय×वा अधोͧलͨखतसंवादं पुनः ͧलखत -   
रमा - ͪĤयसͨख लते ! ͩकमथɍ åयाकुला अͧस? 
लता - (i) .................................................................................. 
रमा - एवम ्। ͩकं तव माता अͪप गहेृ नािèत? 

लता – (ii) .................................................................................. 
रमा - तǑह[ ×वम ्मया सह चल। मम गहेृ भोजनं कुǽ। पƱात ्आवां   

            ͬचͩक×सालयं गͧमçयावः। 

लता - (iii) .................................................................................. 
रमा - शणृु । मम ͪपता अͪप तिèमÛनेव ͬचͩक×सालये ͬचͩक×सकः अिèत।  

लता - (iv) .................................................................................. 
रमा - इदानीं सः भोजनाय गहृम ्आगͧमçयǓत। ×वं तğैव तेन सह वाताɍ कुǽ।  

लता - ..................................................................................  
रमा - आम ्अवæयमेव। स न केवलं ͬचͩक×सकः अͪपतु अतीव सǿदयः अͪप।    

            तÛन भतेåयम।् सः कथयǓत - परोपकारः कत[åयः Ĥाणैरͪप धनैरͪप। 

 
मÑजषूा 

(i) भोजनं नेÍछाͧम । मम माता Ĥातः एव भोजनं ͧसƨं कृ×वा गता । 

(ii) अहं ͬचͩक×सालये तेन सह वाताɍ कǐरçयाͧम । 

(iii) मम माता अͪप सेवाथɍ ͬचͩक×सालयं गता । 

(iv) मम ͪपता अतीव ǽÊणः, सव[कारȣय-ͬचͩक×सालये Ĥवेͧ शतः । 

(v) ͩकं सः गहेृ मम वाताɍ ĮोçयǓत ? 
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खÖडः - ‘ग’  अनुĤयुÈत-åयाकरणम ्    (25 अɨका:) 

अधोͧलͨखतवाÈयानां रेखाɨͩकतपदेषु सिÛधं / ͪवÍछेदं वा ͩĐयताम ्। 
(केवलं Ĥæनचतुçटयम)् 

(i) सरèतीरम ् । समयः Ĥभातवेला ।  

(iii) अदȣयमानं ǓनधनैकǓनçठम ्।    

(ii) ¢यमायाǓत सÑचयात ्। 

(iv) अͬथ[नां समूहः धनलाभमाğेण सÛतुçटः+अभवत ्| 

(v) पद+छेदः तु सुèवरः । 
अधोͧलͨखतवाÈयेषु रेखाɨͩकतपदानां समासं ͪवĒहं वा पदƣͪवकãपßेयः ͬच×वा 
ͧलखत । (केवलं Ĥæनचतçुटयम ्) 

(i) सः नगरèय समÛततः धन-धाÛयसमɮृधाः दानशालाः अकारयत ्। 

(क) धनधाÛयाय समɮृधाः (ख) धनधाÛयैः समɮृधाः 

(ग) धनधाÛयèय समɮृधाः   (घ) धनधाÛयं समɮृधाः   

(ii) गाğेषु अͪप ǓनरासिÈत ͪव£ाय सकलं ĦéमाÖड ंåयाकुलं सÑजातम ्। 

(क) Ǔनर आसिÈतं  (ख) आसÈतèय अभावः 

(ग)  आसÈतेः अभावः   (घ) Ǔनरèय आसिÈतं 

(iii) नािèत ×यागेन समं सुखम ्। 

(क) ×यागसमं  (ख) ×यागेनसम ं 

(ग) ×यागèयसमं (घ) सम×यागं  

(iv) न उदेगकरं वाÈयं वाɨमयं तप उÍयते । 

(क) अनोɮवेगकरं  (ख) अनुɮवेगकरं  

(ग) ननुɮवेगकरं (घ) अनउɮवेगकरं  

(v) वानराणां यूथपः सवा[न ्वानरान ्अवदत ्।  

(क) यूथèय पǓतः    (ख) यूथं पाǓत इǓत     

(ग) यूथः च पाǓतः च (घ) यूथं ͪपबǓत इǓत  

अधोͧलͨखतवाÈयेषु रेखाɨͩकतपदानां ĤकृǓत-Ĥ×ययौ सयंोÏय ͪवभÏय वा उͬचतम ्
उƣरं ͪवकãपßेयः ͬच×वा ͧलखत (केवलं Ĥæनचतुçटयम ्) 

(i) मधुरभाͪषणी वाणी पुǽषं ĤéलादयǓत ।  

(क) मधुरभाष + डीप ् (ख) मधुरभाषण + डीप ् 

(ग) मधुरभाͪषन ्+ ङȣप ् (घ) मधुरभाͪषन ्+ टाप ्  

 

1×4=4 
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8. 

 

 

 

 

 

 

 

 

 

9. 

 

 
 

 
 
 
 

10. 

 

(ii) साव[भौͧमकाः अèय उपदेशाः। 

(क) सव[भूͧम + ठक्     (ख) सव[भूͧम + इक्     

(ग) साव[भौम + ठक्  (घ) सव[भूͧम + मतुप ्  

(iii) Ǔनधान+तल ्याǓत हȣ दȣयमानम।् 

(क) Ǔनधानतल ्     (ख) Ǔनधानता         

(ग) Ǔनधानताम ् (घ) Ǔनधन×वम ्  

(iv) अͬथ[नः ͪवरल + टाप सÉंयां ͪवलोÈय राजा अͬचÛतयत।् 

(क) ͪवरलटाप ्  (ख) ͪवरलां            

(ग) ͪवरला (घ) ͪवरलȣ  

(v) भग + मतुप ् बोͬधसǂवः ͧशवीना ंराजा अभवत।् 

(क) भगमǓत        (ख) भगवत ् 

(ग) भगवान ्           (घ) भगमान ्  

वाÍयानुसारम ्उͬचतपदैः ǐरƠèथानाǓन पूरǓय×वा पुनः ͧलखत- (केवलं Ĥæनğयम ्)                

सुधीर:-  रमेश ! सàĤǓत ×वया ͩकं ͩĐयते ?                                                                                                                             

सौरभः- सुधीर ! इदानीं मया ------(i)------ ͩĐयते | ͩकमͪप  काय[म ्अिèत?                                                                           

सुधीरः – नǑह नǑह | -------(ii)-------- Đȧडनाय उƭानं गÍछाम:, ×वमͪप 

आगÍछ |                                                           

सौरभ: - न | Ƴः मम वाͪष[कपरȣ¢ा भͪवçयǓत अतः अƭ मया सàपूणȶ Ǒदने    

-----(iii)--------- |  

सुधीर :- शोभनम ्, तव परȣ¢ा अिèत अत: ×वं अधुना -----(iv)-------|  

मÑजूषा: =  पɫयते,  पठͧस,  èवाÚयायः,  वयम ्

 

समुͬचतकालबोधकशÞदैः ǐरÈतèथानं पूरयत- (केवलं Ĥæनğयम ्) 

(i) (11:00)_____________ वादने ͧमğम ्आगÍछǓत । 

(ii) छाğः Ĥातः (7:30)__________वादने Ĥातराशं करोǓत। 

(iii) रेलयानं (10:15) __________ वादने जयपुरं ĤाÜनोǓत । 

(iv) वयं (9:45) _______________ वादनपय[Ûतं गͨणतͪवषयं पठामः । 

 

मÑजषूायां Ĥदतैः उͬचतैः अåययपदैः ǐरƠèथानाǓन पूरयत- ( केवलं Ĥưचतुƴयम ् )                    

(i) बकः - कथं माम ्-----(i)-------अͬधͯ¢पͧस ?                                                                                                                              
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11. 

 

 

 

 

 

 

 
12.   

 

 

 

 

 

 

 

 

 

 

 

(ii) अƳाः Ĥाणğाणाय ----(ii)---------- अधावन ्|                                                                                                                              

(iii) मेषः महानसं Ĥͪवæय ----(iii)-------पæयǓत तɮ भ¢यǓत | 

 (iv) सूपकाराणां मेषेण सह एषः कलह: ------(iv)------- भवतां ͪवनाशकारणं 

भͪवçयǓत|  

(v) अहमेव शीतले जले ÚयानमÊनः िèथतĤ£ः ------(v)------- ǓतƵाͧम | 

 मÑजूषा: =  यत ्, नूनम ्, इतèततः , इव , अͪप                                                               

 

अधोͧलͨखतवाÈयेषु रेखाɨͩकत–अशुƨपदाय उͬचतं पदं ͬच×वा वाÈयाǓन पुनः 
ͧलखत- (केवलं Ĥưğयम)्                                                            
(i) तèय वचनं अĮƨेयं म×वा कपयः Ĥहèय वदÛतु |                                                                                                                              

(क) अवदः                         (ख) अवदन ्               (ग) अवदत ्         (घ) वदǓत                                            
(ii) स: च सूपकाराः मेषं आशु ताडयिÛत èम |                                                                                      
(क) तौ                              (ख) ताः                   (ग) ते                (घ) सा                                                              
(iii)  रमणीय: Ǒह सृͪ ƴ: एषा |                                                                      
(क) रमणीयम ्                 (ख) रमणीया:            (ग) रमणीया        (घ) रमणीयाǓन                                                                        
(iv) वयं èवग[समानोपभोगान ्ͪवहाय ǽ¢फलाǓन न भ¢यǓत |                                                                          
(क) भ¢याͧम                   (ख) भ¢याͧम         (ग) भ¢यͧस           (घ) भ¢यामः 

खÖडः 'घ' 

पǑठतावबोधनम ्     (30 अɨकाः) 

अधोͧलͨखतगɮयाशं पǑठ×वा Ĥæनान ्उƣरत ।  
अथ एकदा भगवान ्बोͬधसǂवः बहुजÛमािज[तपुÖयफलैः ͧशवीनां राजा अभवत ्। स 
बाãयात ् एव वɮृधोपसेवी, ͪवनयशीलः, शाèğपारɨगतः च आसीत ् । 
जनकãयाणकम[सु रतः असौ पुğवत ् Ĥजाः पालयǓत èम | काǽÖय-
औदाया[Ǒदसɮगुणोपेतः स नगरèय समÛततः धन-धाÛयसमɮृधाः दानशाला: 
अकारयत ्। तğ अͬथ[नां समूहः अÛन-पान-वसन-रजत-सुवणा[ǑदकाǓन अभीçटाǓन 
वèतूǓन ĤाÜय सÛतुçटः अभवत ् । रा£ः दानशीलताम ्आकÖय[ देशाÛतरेßयोऽͪप 
जनाः तं देशम ्आयािÛत èम ।  
I. एकपदेन उƣरत। (केवलं Ĥæनɮवयम)् 
(क) क: बहुजÛमािज[तपुÖयफलःै ͧशवीना ंराजा अभवत?् 
(ख) कः पुğवत ्Ĥजाः पालयǓत èम? 
(ग) सः Ĥजाः कथं पालयǓत èम? 
॥. पूण[वाÈयेन उƣरत (केवलं Ĥæनɮवयम)् 
(क) बोͬधस×व कȧǺशः आसीत?् 
(ख) अथȸना ंसमूहः काǓन ĤाÜय सÛतुçटः अभवत?् 
(ग) बोͬधसǂवः काः अकारयत ्?  
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13. 

 

 

 

 

 

 

 

 

 

 

 
 

 
14. 
 

 

 

 

 

 

 

 

 

 

 

 

 
III. यथाǓनदȶशम ् उƣरत । (केवलं Ĥæनɮवयम)् 
(क) "दानशाला:" इǓत पदèय ͩकम ्ͪवशेषणपदम?् 
(ख) "आयािÛत èम" इǓत ͩĐयापदèय ͩकम ्कतृ[पदम?् 
(ग) ‘भगवान ्बोͬधसǂवः’ - अनयोः पदयोः ͪवशेषणपदं ͩकम ्अिèत? 

अधोͧलͨखतं पɮयांशं पǑठ×वा ĤदƣĤæनानाम ्उƣराͨण संèकृतेन ͧलखत-  

चÑचलं Ǒह मनः कृçण! Ĥमाͬथ बलवɮǺढम ्। 

तèयाहं ǓनĒहं मÛये वायोǐरव सुदçुकरम ्॥ 

I. एकपदेन उƣरत- (केवलं Ĥæनɮवयम)् 
(i) अिèमन ्æलोके सàबोधनपदं ͩकम?्  
(ii) चÑचलं ͩकम ्अिèत? 
(iii) बलवɮǺढम ्ͩकम ्Ĥमाͬथ? 
II. पूण[वाÈयेन उƣरत- (केवलं Ĥæनɮवयम)् 
(i) मनः कȧǺशम ्अिèत? 
(ii) मनसः वशीकरणं केन समं दçुकरम?्  
(iii) कèय वशीकरणं वायोǐरव सुदçुकरम?् 
III. Ǔनदȶशानुसारम ्उƣरत- (केवलं Ĥæनɮवयम)् 
(i) अिèमन ्æलोके 'बलवɮ' इǓत कèय ͪवशेषणम?्  
(ii) 'सरलम'् इǓत अèय पदèय ͩकं ͪवलोमपदम ्अğ æलोके ĤयुÈतम?् 
(iii) अिèमन ्æलोके 'मÛये' इǓत ͩĐयापदèय कतृ[पदं ͩकम?् 

अधोͧलͨखतं नाɪयांशं पǑठ×वा Ĥưान ्उƣरत-                                               
काक: — रे परभतृ ! अहं यǑद तव सÛतǓत ंन पालयाͧम तǑह[ कुğ èयुः ͪपका:?                    
अत: अहमेव कǽणापर: पͯ¢सĨाɪ काक: |                                                                  
राजहंसः — शाÛतं शाÛतम ्| अहमेव नीर¢ीरͪववेकȧ पͯ¢णां राजा |          
(ततः ĤकृǓतमाता ĤͪवशǓत)                                              

ĤकृǓतः — ( सèनेहं ) अलं ͧमथः कलहेन | अहं ĤकृǓत: एव युçमाकं जननी | 
यूयं सवȶ एव मम ͪĤयाः । सवȶषामेव मह×वं ͪवƭत ेयथासमयम ्| सवȷः एव म े
शोभा | न तावत ् कलहेन समयं वथृा यापयेत | ͧमͧल×वा एव मोदÚवं जीवनं च 
रसमयं कुǽÚवम ्|                                                                 
l. एकपदेन उƣरत – (केवलं ĤưƮयम)्                                             
(i) कः आ×मानं ‘नीर¢ीरͪववेकȧ’ इǓत कथयǓत?                                                                           
(ii) ͪपकèय संतǓत ंकः पालयǓत?  
(iii) ĤकृǓतः केषाम ्जननी अिèत?                                              
ll. पूण[वाÈयेन उƣरत - (केवलं ĤưƮयम)्  
(i) सवȷ: एव कèया: शोभा वत[ते ?   

 

1x2=2 
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(ii) कलहेन कम ्वथृा न यापयेत ् ?    
(iii) ĤकृǓतः ͩकम ्अवदत?्      
lll. Ǔनदȶशानुसारं उƣरत- ( केवलं ĤưƮयम ्)                                         
(i) ‘पालयाͧम’ इǓत ͩĐयापदèय कतृ[पदं ͩकम ्अğ ĤयुƠम ्?                                                 
(ii) ‘परèपरम’् इ×यèय ͩकं पया[यपदम ्अğ ĤयुƠम ्?                                                 
(iii) ‘पͯ¢सĨाɪ’ इ×यèय ͪवशेçयपदं ͬच×वा ͧलखत ।      

 

रेखाɨͩकत-पदाǓन आध×ृय ĤưǓनमा[णं कुǽत- ( केवलं पÑचĤưाः )                      

(i) मम ͪपÍछानाम ्अपूवɍ सौÛदय[म ्|    

(ii) Ïवलन ्मेषः अƳशालां ĤͪवशǓत |                                              

(iii) एतेषां कलहो न वानराणां Ǒहताय |  

(iv) मयूरèय न×ृयं Ĥकृतःे आराधना |   

(v) अयं पǽुषः पापं चरǓत ।  

(vi) राजा शĐाय च¢ुः समͪप[तवान ् ।  

 
मÑजषूातः समुͬचतपदाǓन ͬच×वा अधोͧलͨखत-Ʋोकèय अÛवयं पूरǓय×वा पुनः 

ͧलखत- 

तèमात ्èयात ्कलहो यğ गहेृ Ǔन×यमकारणः |                                                                                   

तɮ गहंृ जीͪवतं वाÑछन ्दरूतः पǐरवज[येत ्||                                          

अÛवयः- तèमात ्यğ (i)____________ Ǔन×यम ्अकारणः (ii) ___________ 

èयात ् | जीͪवतं (iii) ___________ (नरः) तत ् (iv)____________ दरूतः 

पǐरवज[येत ्|  

 

 

अथवा 

मÑजषूाया: साहाáयेन æलोकèय भावाथȶ ǐरÈतèथानाǓन पूरǓय×वा पुन: ͧलखत-  

ĐोधɮभवǓत सàमोहः सàमोहा×èमǓृतͪवħमः । 

èमǓृतħंशाɮबɮुͬधनाशो बुɮͬधनाशा×ĤणæयǓत ॥ 

भावाथ[ः – ͧमğ अजु[न ! तèमात ् (i)____________ एव मानुषेषु 
(ii) _______________ जायते। मोहात ्एव èमतृःे (iii) ___________ भवǓत, 
èमǓृत-ͪवħमात ्(iv)____________ म×ृयुः भवǓत । 

 

 

 
 

1x2=2 

 
 

 

 

1x5=5 

 

 

 

 

 

 
 

½x4=2  

 

 

 

 

 

 

 

 

 
 

 
 

 

 

 

 

 

 

 

मÑजषूा : - वाÑछन ्, कलहः, गहेृ, गहृम ्   

मÑजूषा : - बɮुधेः, Đोधात ् , ͪवħम:,  मोह: 
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17.   

 

 

 

 

 
 

 

 

 

 

 

 

 

 

18.  

 

 

 

अधोͧलͨखतवाÈयेषु रेखाɨͩकतपदानां Ĥसɨगानुकूलम ् उͬचताथɍ ͬच×वा ͧलखत– 

(केवल Ĥæनचतुçटयम ्)  

(i) मषेः महानसं Ĥͪवæय यत ् पæयǓत तɮ  भ¢यǓत |                                                                           
(क) हयशालाम ्   (ख) पाकशालाम ्     (ग) मिÛदरम ्     (घ) राजमहलम ्                                                              
(ii) तèय ͯ¢तौ Ĥलुठतः तणृेषु वͫƹÏवालाः समुि×थताः                                                       
(क) मागȶ       (ख) भूमौ           (ग) पाकशालायाम ् (घ) आकाशे          
(iii) काकèय गाğम ्यǑद काÑचनèय |                                                                           

(क) गोğम ्     (ख) कुटुàबम ्       (ग) शरȣरम ्      (घ) नेğम ्                                                              

(iv) सपǑद उपायः ͩĐयताम ्|                                                                          

(क) एकपदेन    (ख) चतुथाɍशम ्      (ग) पादेन सह     (घ) झǑटǓत                                                            

(v) अÛयिèमन ्अहǓन स मेषः महानसं ĤͪवशǓत |                                                       

(क) मÚयाƹम ्  (ख) Ĥातःकाले        (ग) Ǒदवसे         (घ) रात    
        

मÑजषूाया: सहायतया कथापूǓतɍ कृ×वा कथा ंपुन: ͧलखत।  
किèमंिæचत ् नगरे चÛġः नाम (I) ------ वसǓत èम । भूपतेः चÛġèय पğुाः 

वानरान ् (ii) -------- पुिçटं नयिÛत èम। तğ राजगहेृ (iii) ------------ मेषः 

िजéवालोलुपतया महानस ंĤͪवæय भोजनं खादǓत èम। सुपकारैः Ǔन×यताͫडत ंमेष ं

Ǻçɪवा            (iv) ------------ वानरान ्राजभवनं ×यÈतुम ्अकथयत ्। 

रसनाèवादलÞुधाः        (v) ------------- मक[ टाः तत ्राजभवनं ×यÈतमु ्न 

èवीकृतवÛतः। अÛयिèमन ्अहǓन स मेषः सुपकारेण (vi) -------------   ताͫडतः। 

Ïवलन ्सः (vii) ---------- Ĥͪवçटः । पǐरणामतः अæवाः अध[दÊधाः दÊधाः वा 

अभवन।् राजा (viii) --------- आहूय अæवर¢ाय ैÛयवेदयत ्। भयğèताः कपयः 

गुǽजनोपदेशèय अवधीरणातः पæचाƣापं कृतवÛतः। 

मÑजषूा:-  अæवशालां, राजवैɮयम,् अध[Ïवͧलतकाçठेन, मदोɮधताः, 
वानरयूथपः, बावाहनयोÊयः, भोÏयपदाथȷः, भूपǓतः  

 

1x4=4 

 

 

 

 

 

 

 
 

 

 

 

 

 

½x8=4 

 

 

 

 

 

 

                             ********************  
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             D.A.V. INSTITUTIONS, WEST BENGAL ZONE 

PERIODIC TEST II  

                                       SESSION 2023-2024 

CLASS: X                                                                   MAXIMUM MARKS: 80 

SUBJECT: SCIENCE                                                TIME: 3 HOURS 

General Instructions: 

 i.   This question paper consists of 39 questions in 5 sections.  

ii.   All questions are compulsory. However, an internal choice is provided in some questions. 

      A student is expected to attempt only one of these questions.  

iii.  Section A consists of 20 objective type questions carrying 1 mark each.  

iv.  Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these 

      questions should be in the range of 30 to 50 words.  

v.   Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to 

      these questions should be in the range of 50 to 80 words.  

vi.  Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to 

      these questions should be in the range of 80 to 120 words.  

vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each 

      with sub-parts 

Section-A 

Select and write the most appropriate option out of the four options given for each of the 

questions 1-20. There is no negative mark for incorrect response. 
1. Silver chloride in sunlight turns to  

(a) grey 

(b) yellow 

(c) red 

(d) blue 

1 

2. Find the value of x, y, z in the following reaction:  

x Zn + y HNO3 → x Zn(NO3)2 + z H2O + N2O  

(a) 5, 10, 4  

(b) 10, 4, 5 

(c) 4, 10, 5 

(d) 4, 5, 10  

1 

3. Identify the process which is involved in chemical reaction. 
 

(a) Storing of oxygen gas under pressure in a gas cylinder 

(b) Liquefaction of air  

(c) Keeping petrol in a china dish in the open 

(d) Heating magnesium wire in presence of air at high temperature  

1 

4. Suman added dil. hydrochloric acid in first test tube containing small pieces of 

egg shell and then in second test tube containing zinc granules. He observed, gas 

evolved from both the test tubes. The gases evolved are:  
 

(a) H2 in first test tube, O2 in second test tube 

(b) CO2  in first test tube, H2 in second test tube 

(c) O2 in first test tube, Cl2 in second test tube 

(d) Cl2 in first test tube, CO2 in second test tube 

 

1 
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5. Incorrect statement about acid is 

(a) they have sour test. 

(b) they may change the colour of indicator. 

(c) they change the colour of blue litmus to red. 

(d) they change the colour of red litmus to blue. 

 

1 

6. The graph given below depicts a neutralisation reaction, 

(acid + alkali → salt+ water). The pH of solution changes as we add excess of 

acid to an alkali.  

 

 

Which letter denotes the area of the graph where both acid and salt are present? 

(a) A 

(b) B 

(c) C 

(d) D 

1 

7. A girl met with an accident and her leg got fractured. She went to an 

orthopaedics for treatment. The doctor mixed a white powder in water and 

applied it to her leg. Identify the white powder:  
 

(a) Talcum powder  

(b) Plaster of Paris 

(c) Copper phosphate  

(d) Gypsum 

1 

8.  Which of the following statements are true about the brain?  

(i) The main thinking part of brain is hind brain  

(ii) Centres of hearing, smell, memory, sight etc are located in fore brain.  

(iii) Involuntary actions like salivation, vomiting, blood pressure are controlled 

by the medulla in the hind brain  

(iv) Cerebellum does not control posture and balance of the body  

(a) (i) and (ii)  

(b) (i), (ii) and (iii)  

(c) (ii) and (iii)  

(d) (iii) and (iv)  

 

1 

9. The correct sequence of anaerobic respiration in yeast is --- 
 

(a) Glucose         Pyruvate        Ethanol + Oxygen + Energy 

(b) Glucose         Pyruvate        Lactic acid 

(c) Glucose         Pyruvate       Water + Carbon dioxide 

(d) Glucose         Pyruvate        Ethanol + Carbon dioxide + Energy  

1 
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10. Which process is shown by the following picture 

 

(a)  Movement of food during photosynthesis      

      in a tree 

(b) Movement of water during transpiration 

      in a tree. 

(c) Movement of carbon dioxide in a tree. 

(d) Movement of oxygen during    

      Photosynthesis in a tree. 

 

1 

11. The diagram represents a part of human circulatory system. Where is the blood 

pressure highest? 

 

(a) both 3 and 4 

(b) only 2 

(c) only 4 

(d) both 1 and 3 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

12.  The growth of tendril in pea plants is due to  

 

 (a) Effect of light. 

 (b) Effect of gravity 

 (c) Rapid cell division in tendril cells that are away from the 

      support. 

 (d) Rapid cell division in tendril cells in contact with the support. 

1 

13.  Consider the following figure with reference to brain. Identify the unlabelled 

parts A, B and C by choosing correct option below. 

                                   
                   A                     B                                    C 

(a)  (a) Cerebrum            Medulla Oblongata           Cerebellum 

(b)  (b) Cerebrum            Cerebellum                       Medulla Oblongata 

(c)  (c) Cranium              Cerebellum                       Medulla Oblongata 

(d)  (d) Cerebellum          Cerebrum                         Medulla Oblongata 
 
 
 
 
 

1 
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14. Observe the given figure carefully and identify the type of movement observed. 

 
 (a) Amoeboid movement    

 (b) Peristaltic movement 

 (c) Ciliated movement           

 (d) Pseudopodial movement 

 

1 

15. The focal length of the concave mirror in the experimental set up shown below 

is: 

 

 

 

 

 

 

 

 

 

 

 

(a) 10 cm 

(b) 40 m  

(c) 39.9 m 

(d) infinity  

1 

16. A student sitting on the last bench can read the letters written on the blackboard 

but is not able to read the letters written in his textbook. Which of the following 

statement is correct?  

 

 (a) The near point of his eyes has receded away.  

 (b) The near point of his eyes has come closer to him.  

 (c) The far point of his eyes has come closer to him. 

 (d) The far point of his eyes has receded away. 

 

1 

Q. no 17 to 20 are Assertion- Reasoning based questions. These consists of two statements- 

Assertion (A) and Reason (R). Answer these questions selecting the appropriate option given 

below: 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true and R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true. 

17. Assertion: The acid must always be added to water with continuous stirring. 

Reason: Mixing of acid in water decreases the concentration of H+ ions per unit 

volume.   

 

1 
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18. Assertion: Capillaries are the thinnest blood vessels. 

Reason: Capillaries connect the branches of arteries and veins.  

1 

19.  Assertion: Auxin is responsible for the phototropic and geotropic     

                  responses of plants. 

Reason: Thigmonasty is the movement of a plant part in response to    

                water. 

1 

20. Assertion: Thin lens have more power. 

Reason: Refractive index of glass is more than the refractive index of air. 

                

1 

SECTION-B 

Q. no 21 to 26 are very short answer type questions 

21. P, Q and R are three elements which undergo chemical reactions according to 

the following equations:  

                      (i) P2O3 + 2Q → Q2O3 + 2P 

                      (ii) 3 RSO4 + 2Q → Q2(SO4)3 + 3R 

                      (iii) 3RO + 2P → P2O3 + 3R  

Answer the following questions:  

(a) Which element is most reactive?  

(b) Which element is least reactive? 

(c) State the type of reaction listed above.  

2 

22.  The trachea divides into two tubes at its lower end. What is the name of these 

tubes? When air is taken in and let out during breathing, lungs always contain a 

residual volume of air. Why? 

2 

23. 

 

 

 

24. 

Glands in our stomach release hydrochloric acid, but then also it does not burn 

our stomach. Why? Compare the length of small intestine in cow and tiger. Give 

reason. 

Observe the following and answer the questions below. 

2 

 

 

 

2 

    

Name the part of neuron 

(a) From where information is 

acquired. 

(b) Through which information travels 

as electric impulse. 

                                                 OR 

There is a potted plant in your drawing room, after a few days you notice that the 

plant has bent to one side. What could be the reason? How has this movement 

been coordinated? 

 

 

25. The linear magnification produced by a spherical mirror is +3.  

(a) Analyse this value and state the type of mirror. 

(b) Draw ray diagram to show the formation of the image. 

                                                OR 

(a) What will be the change in focal length of a convex lens if its lower  

     half is broken? 

(b) Find the power of a concave lens having focal length 100 cm.  

2 
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26.  Two parallel rays of red and violet colours travelling through air, meet the air-

glass boundary as shown in the figure below. Will their paths inside the glass be 

parallel? Give a reason for your answer. 

 

   

2 

 

 

 

 

 

SECTION-C 

Q. no 27 to 33 are short answer type questions 

27.  For the given changes write the balanced chemical equation of each. Also 

mention the changes in balanced equation. 

(a) Change in colour. 

(b) Change in temperature. 

(c) Change of state.  

OR 

            2PbO + C → 2Pb + CO2  

(a) Identify from the given reaction:                                                                                  

     (i) Substance oxidised and Substance reduced.  

     (ii) Oxidising agent and reducing agent.  

(b) Name the type of reaction. Give reason in support of your response. 

1+1+1 

 

 

 

 

 

 

 

 

28. Note down your observation with reason: 

 (a) Red litmus is introduced into solution of sodium sulphate. 

(b) Methyl orange is added to dil. hydrochloric acid. 

(c) Phenolphthalein is added into a solution of sodium acetate. 

 

 

1+1+1 

29.  (a) Identify any two parts labelled as (1)  to (6)      

(b) Among the following given blood vessels, name any one blood vessel  

        (i)Which carry oxygenated blood  

        (ii)Which carry deoxygenated blood 

        (pulmonary artery, pulmonary vein, Aorta, vena cava) 

(c) What is the advantage of four chambered heart? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  1+1+1 
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30.  With the help of the given picture answer the following:  

 
(i) Name the process. 

(ii) Explain the mechanism with     

      the help of (a), (b), (c) and (d)  

1+2 

31. A teacher sets up a stand carrying a convex lens of focal length 15 cm at     10 

cm marked on the optical bench. 

(a) Where should screen be placed so as to get a clear image of the distant 

object? 

(b) Draw a suitable ray diagram that shows image formation for an     

object at infinity using convex lens. 

1+2 

32. (a) The following figure shows a ray of light travelling from medium A to 

medium B. 

 
i) Determine the refractive index of the medium B relative  

      to medium A. 

(ii) From the given media, which one will be a denser medium? 
 

(b) The speed of light in a transparent medium is 0.6 times that of its   

      speed in vacuum. What is the refractive index of the medium? 

2+1 

33. (a) Make a diagram to show how hypermetropia is corrected.  

 

(b) The near point of a hypermetropic eye is 1 m. What is the power of      

the lens required to correct this defect? Assume that the near point of the 

normal eye is 25 cm. 
 

1+ 2 

 

 

 

 

SECTION-D 

Question No. 34 to 36 are long answer questions  

34 Kabir purchased a commercially important white coloured household salt (Y) 

which has ten water molecules as water of crystallisation.  

(a) Write the formula, chemical name and commercial name of the salt. (Y).     

      Define the term water of crystallisation.                                 

(b) Taking common salt as a raw material write the balanced chemical  

      equations of the reactions involved in the preparation of the salt (Y)  

(c) Mention any two uses of the salt(Y).       

OR 

2+2+1 
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 A metal carbonate X on reacting with an acid gives a gas which when passed 

through a solution Y gives the carbonate back. On the other hand, a gas G that is 

obtained at the anode during electrolysis of brine is passed on dry Y, it gives a 

compound Z, used for disinfecting drinking water.  

(a)  Identify X, Y, G, Z.                                                                                                          

(b) Write the balanced chemical equations of all the reactions involved.         

2+3 

35. Ankita took her mid-day meal items as listed below-                                                                               

                                                                                      
FOOD ITEMS NUTRITIONAL INFORMATION 

Cake Protein, Fats, Carbohydrates 

Dal Rice Protein, Carbohydrates 

French Fries Fats, Carbohydrates 

On the basis of above information answer the following questions- 

(a) Name the first enzyme that mixes with food in the digestive tract. 

(b) Name the parts of the human digestive system where digestion of  

    food does not takes place. 

(c) How would digestion of food be affected if the bile duct is  

    completely blocked? 

(d) How is the exit of undigested food material regulated? 

                                         OR 

Rakhi has been reading the structure of a nephron and the role played by the 

different parts of it in urine formation but there are certain mistakes and her 

elder brother helps her with a correct and detailed explanation. 

(a)  What are the two major parts of a nephron?            

(b) Name the three steps involved in the formation of urine.   

(c)  Name any four substances which are reabsorbed from the initial  

    filtrate in the tubular part of nephron.      

(d) Glomerular filtrate is 180 litres per day .Why do we excrete urine about   

      1.6 to 1.8 litres per day?  

5 

36. (a) An object 1 m tall is placed on the principal axis of a convex lens and its 40 

cm tall image is formed  on the screen placed at a of distance 70 cm from the 

object. What is the focal length of the lens? 

 

(b) Tripti is given lenses with powers +5 D, -5 D, +10 D and -20 D. Considering 

a pair of lenses at a time, select a pair of two lenses which will give a combined 

focal length of  (i) -10 cm (ii) +20 cm when they are kept in contact. 

                                                  OR 

(a) A concave lens forms the image of an object kept at a distance 20 cm in front 

of it, at a distance 10 cm on the side of the object.  

   (i) What is the nature of the image? 

   (ii) Find the focal length of the lens. 

 

(b) State the two positions of object for which the image formed in  

      Convex lens will be magnified.  

(c) Explain why the absolute refractive index of vacuum is taken to be 1.  

3+2 

 

 

 

 

 

 

 

 

 

3+1+1 
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SECTION - E  

Question No. 37 to 39 are case-based/data -based questions with 2 to 3 short sub-parts. 

Internal choice is provided in one of these sub-parts. 

37. The table given below shows the hints given by the quiz master in a quiz. 

S.NO                                HINT 

 (i) A metal nitrate “A” is heated strongly in a test tube. 

(ii) A brown gas “B” is evolved during heating. 

(iii) At the end a yellow residue “C” is left in the test tube 

(iv) Aqueous solution of “A” on reaction with potassium 

iodide (aq) forms a yellow precipitate “D”.  

Based on the above hints answer the following questions: 

  (a) Identify A, B, C, D.  

   (b) Write the balanced chemical equations which occur in 

        steps (i) and (iv).  

OR 

 (b)Name the types of reaction of each. Give an example of a same type 

     of reaction but other than the one given in step (i). 

2+2 

38. While teaching the chapter ‘CONTROL and COORDINATION’ Biology 

teacher told to students of Class X, Nervous system cannot meet all the 

requirement of a multicellular organism, so multicellular animals have also a 

second system of communication called ENDOCRINE SYSTEM. After the 

topic was taught , the subject teacher asked the following questions: 

(a) Name the gland which is absent in male and the one absent in 

female                                                                                            

(b) Why are some patients of diabetes treated by giving injections of          

      Insulin? 

 (c) Mention 2 difference between movement in sensitive plants and  

       movement in legs. 

OR 

 What will happen if intake of iodine in our diet is low?              

1+1+2 

 

 

 

 

 

 

 

39. Dispersion is the splitting up of white light into seven colors on passing through 

a transparent medium like a glass prism. When white light consisting of seven 

colors falls on a transparent medium (glass prism) , each color in it is refracted ( 

or deviated ) by a different angle , with the result that seven colors are spread out 

to form a spectrum. 

 

 

 

 

 

 

(a) Arrange the angle of deviation of red, yellow and green in the   

     increasing order. 

(b) Where else the phenomenon is seen in nature? 

(c) Will there be dispersion of white light if the refractive index of the  

       prism is same with the surroundings? Justify. 

OR 

How can we recombine components of white light that are split by prism? Draw 

necessary diagram. 

1+1+2 

 

************************ 
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D.A.V. INSTITUTIONS, WEST BENGAL ZONE 
PERIODIC TEST – II  

 SESSION 2023-2024  

CLASS: X            MAXIMUM MARKS: 80 

SUBJECT: SOCIAL SCIENCE                            TIME: 3 HOURS 

General Instructions:  

1. The question paper comprises Six Sections – A, B, C, D, E and F. There are 37 questions  

2. in the Question paper. All questions are compulsory.  

3. Section A – From questions 1 to 20 are MCQs of 1 mark each.  

4. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each. 

Answer to each question should not exceed 40 words.  

5. Section C contains Q.25to Q.29 are Short Answer Type Questions, carrying 3 marks each. 

Answer to each question should not exceed 60 words  

6. Section D – Question no. 30 to 33 are long answer type questions, carrying 5 marks each. Answer 

to each question should not exceed 120 words.  

7. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and are 

of 4 marks each. Answer to each question should not exceed 100 words.  

8. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 37a from History (2 

marks) and 37b from Geography (3 marks).  

9. There is no overall choice in the question paper. However, an internal choice has been provided in 

few questions. Only one of the choices in such questions have to be attempted.  

10. In addition to this, separate instructions are given with each section and question, wherever 

necessary.  

SECTION – A 

MCQs (1X20=20) 

1. Match the term with the statement/s given below:  

A ‘Utopian Society’ is 

(i) a society under a benevolent monarchy 

(ii) a society that is unlikely to ever exist 

(iii) a society under the control of a chosen few wise men 

(iv) a society under Parliamentary Democracy. 

A) (i) and (ii)   B) (ii) and (iii  C) only (ii)   D) only (iii)  

1 

2. Consider these statements about the Image given below : 

 

1) Title of this caricature is “The Club of Thinkers”.  

2) The plaque on the left bears the inscription: ‘The most important question  

     of today’s meeting: How long will thinking be allowed to us?”  

1 
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3) This was a caricature of meeting called by liberals.  

4) This caricature was created in 1820.  

Which of the above statement(s) is/are correct?  

A) 1 only   B) 2 only   C) Both 1 and 2   D) 1, 2 And 4  

3. Which of the following option is true with respect to Silk Routes? 

 (I)They are known to have existed since before the Christian era and thrived almost till the 

15th century.  

(II)These routes, over land and by sea, knitted together vast regions of Asia, and linked Asia 

with Europe and Northern Africa.  

 

A) Only (I)  B) Only (II)   C) Both (I) & (II)          D) Neither (I) nor 

(II)  

1 

4.  Name the food which travelled west from China to be called “Spaghetti’? 

A) Soya  B) Groundnuts  C) Potato   D) Noodles 

1 

5. Identify the statements which suggest that it is not politics that gets caste-ridden; it is the 

caste that gets politicised.  

i) When governments are formed, political parties take care that representatives of different 

castes find a place in it. 

ii) Each caste group incorporates neighbouring castes which were earlier excluded. 

iii) Various caste groups enter into a coalition with other castes. 

iv) Political parties and candidates in elections make appeals to caste sentiments. 

 

A) i,ii and iv  B) ii,iii and iv  C) ii and iii   D) i and iv 

1 

6. Match list I with list II and select the correct answer using the codes below in the lists: 

Column I Column II 

1.Sri Lanka as an Independent nation A.1950s and 1960s 

2.Belgium constitution amended B.1948 

3.Tension between Dutch speaking and French speaking 

communities 
C.1970-1993 

4.Sinhala as the only official language D.1956 

Options 

A) 1.B, 2.C, 3.D, 4.A    B) 1.C, 2.B, 3.D, 4 A 

C) 1.C, 2.A, 3.B, 4 D    D) 1.B, 2.C, 3.A ,4.D 

1 

7. Consider the following statements regarding the Prudential and Moral reasons for power 

sharing. Which one of the statement is incorrect?  

A. The beneficial and inclusive long-term health of a democracy is a Prudential reason for 

power sharing.  

B. Consensus in the decision-making process is likely to avoid disastrous outcomes such as 

the civil war in Sri Lanka. 

C. Non-government actors may also exercise their stakes in the sharing of power. 

D. Power-sharing can also lead to majoritarian domination in a democracy. 

1 

8. A belief that the majority community should be able to rule a country in whichever way it 

wants, by disregarding the wishes and needs of the minority is:   

A) Power Sharing.    B) Central Government. 

C) Majoritarianism.     D) Community Government. 

1 
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9. Identify two reasons why caste alone cannot win elections in India. 

i) No party wins all the votes of a caste or community 

ii) Some political parties are known to favour some castes and are seen as their 

representatives. 

iii) No parliamentary constituency in the country has a clear majority of the single caste. 

iv) Mobilising and securing political support has brought new consciousness among the 

lower castes. 

A) i and iii   B) i and iv  C) ii and iii  D) ii and iv 

1 

10. More radical women’s movements aimed at equality in personal and family life as well. 

These movements are called ________ movements.  

A) Political   B) Gender  C) Feminist  D) Radical 

1 

11. What is a major cause behind failure of the Parliament to reserve at least one- third seats for 

women representation? 

A) Lack of consensus among political parties 

B) Refusal by President to give consent to the Bill 

C) Rejection of the Bill in Rajya Sabha 

D) None of the above. 

1 

12. A land which is left uncultivated for more than one year but less than five years are called as: 

A) Barren land    B) Culturable wasteland 

C) Current fallow    D) Other than current fallow 

1 

13. Identify the statement which is NOT correct in terms of water scarcity in India. 

A)  The availability of water resources varies over space and time, mainly  

      due to the variations in seasonal and annual precipitation. 

B)  Water scarcity in most cases is caused by over-exploitation, excessive  

      use and unequal access to water among different social groups. 

C)  A large rural population requires more water for domestic use than urban      

      population. 

D)  Irrigated agriculture is the largest consumer of water. 

1 

14. Since countries have different _______, comparing total income will not tell us what an 

average person is likely to earn. 

A) Economic policies                                      B) Reserves 

C) Resources                                                   D) Population 

1 

15. Mr. R has got a job in a company where the payment is very good & the work place is close 

to his home. But he found that it does not have much job security and the working 

environment is not cordial. So, Mr. R declined the offer. 

Which of the following sentence best describes the situation? 

A) Material things that money can buy is most important 

B) Besides seeking more income there are other goals that one may seek for 

C) The quality of our life depends on our income 

D) Materialistic demands should not be ignored. 

1 

16. Where will you find the disguised unemployment most? Select the correct option from those 

given below:  

A) Among agricultural workers working for small farm lands  

B) Among part-time industrial workers  

C) In most of the government offices  

D) In big private companies 

1 

17. On which of the following basis, the sectors are classified into public and private sector? 

A. Employment conditions. 

B. The nature of economic activity. 

C. Ownership of enterprises. 

D. Number of workers employed in the enterprise. 

1 
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 For Q.N 18 to 20 there are two statements marked as Assertion (A) and Reason (R). Mark 

your answer as per the codes provided below: 

 

18. Assertion(A): Horizontal distribution of power allows different organs of the government 

placed at same level to exercise different powers. 

Reason(R):  The separation ensures that different organs can exercise unlimited power. 

Codes: - 

A. Both (A) and (R) are true and R is the correct explanation of A. 

B. Both (A) and (R) are true but R is not the correct explanation of A. 

C. (A) is true but (R) is false. 

D. (A) is false but (R) is true. 

1 

19. Assertion (A): National parks, Wildlife sanctuaries, Biosphere Reserves are made to protect 

our natural vegetation and wildlife. 

 Reason (R): Forests are our wealth. Conservation is necessary to save the precious resource 

from depletion.  

Codes: - 

A. Both (A) and (R) are true and R is the correct explanation of A. 

B. Both (A) and (R) are true but R is not the correct explanation of A. 

C. (A) is correct but (R) is wrong. 

D. (A) is wrong but (R) is correct.  

1 

20. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per 

the codes provided below: 

Assertion(A): Mohan is a shopkeeper who pays his taxes on time. He has employed two 

workers Rakesh and Raghu in his shop. He pays them well, however, none of the workers get 

any paid leaves in the year. 

Reason(R): Rakesh and Raghu are employed in unorganized sector.  

Codes: - 

A. Both (A) and (R) are true and R is the correct explanation of A. 

B. Both (A) and (R) are true but R is not the correct explanation of A. 

C. (A) is correct but (R) is wrong. 

D. (A) is wrong but (R) is correct 

1 

SECTION B 

VERY SHORT ANSWER TYPE QUESTIONS (24=8) 

21. “Language too played an important role in developing nationalistic sentiments”. Cite two 

examples in support of the statement.  

2 

22. “Power may also be shared among different social groups”. Justify the statement with an 

example. 

2 

23. How local governments have made a significant impact on Indian democracy? 2 

24. The ‘right of inheritance’ is responsible for severe fragmentation of land holding in India. 

Explain. 

2 

SECTION C 

SHORT ANSWER TYPE QUESTIONS (3x5=15) 

25. Evaluate any three features of the peasant movement during Civil Disobedience Movement 

in India.  

3 
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26. “Communal politics is based on the idea that religion is the principle basis of social 

community”. Describe three ways in which this communal politics is expressed. 

3 

27. In some areas of India, local communities are struggling to conserve the habitats for the wild 

along with government officials.” Give three arguments in support of the statement. 

3 

28. What is sustainable economic development? Why is it said that consequences of 

environmental degradation do not respect national or state boundaries? 

1+2=3 

29. Why is importance of tertiary sector growing so rapidly in India? Explain it with three 

reasons.  

OR 

“Economic activities, though grouped into three different categories’, are highly 

interdependent.” Justify the statement with any three relevant points.  

3 

SECTION D 

LONG ANSWER TYPE QUESTIONS (5X4=20) 

30. How did Napoleonic trade benefit the businessmen and small-scale producers? Describe any 

three economic hardships faced by Europe in the 1830s.                                                                            

OR 

How was the history of nationalism in Britain unlike the rest of Europe? 

2+3=5 

 

 

5 

31. State differences between the local government before and after the constitutional 

amendment of 1992. Which problems are being faced by the local bodies?                                                                              

OR 

‘The real success of federalism in India can be attributed to the nature of democratic politics 

in India.’ Explain. 

3+2=5 

 

 

 

5 

32. Mohan lives in Gujarat and recently inherited a large piece of fertile land from his father & 

decided to start farming. He wishes to cultivate either cotton or jute. Which crop he should 

cultivate keeping in minds the geographical & market condition of the area? 

OR 

The technological & institutional changes initiated by the Govt. of India have fostered the 

growth of agricultural development in India. 

Mention five such changes that led to agricultural development in India. 

5 

33. Study the table given below & answer the questions that followed. 

States Per Capita Income 

for 2018–19 (in 

Rs) 

Infant Mortality 

Rate per 1,000 live 

births (2018) 

Literacy Rate % 

(2017-18) 

Haryana 2,36,147 30 61 

Kerala 2,04,105 7 83 

Bihar 40,982 32 43 

 

i) Identify the state where an average person is likely to earn relatively less income. 

ii) Among Haryana and Kerla which state do you consider developed and why? 

iii)  In the given context sate the significance of Public Facilities over income in ensuring 

overall development of a country. 

OR 

 

 

 

1+2+2 
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a) What is the main criterion used by World Bank in classifying different countries? 

b) Differentiate between UNDP report and World Bank report on development of countries. 

Why is UNDP report more reliable of the two? 

c) Suppose records show that the average income in a country has been increasing over a 

period of time. From this, can we conclude that all sections of the economy have become 

better and earning good? 

1+2+2 

SECTION E 

CASE BASED QUESTIONS (4X3=12) 

34. Read the source given below and answer the questions that follow:  

 

Rallies were organized in various cities, workers went on strike in railway workshops, and 

shops closed down. Alarmed by the popular upsurge, and scared that lines of communication 

such as the railways and telegraph would be disrupted, the British administration decided to 

clamp down on nationalists. Local leaders were picked up from Amritsar, and Mahatma 

Gandhi was barred from entering Delhi. On 10 April, the police in Amritsar fired upon a 

peaceful procession, provoking widespread attacks on banks, post offices and railway 

stations. Martial law was imposed and General Dyer took command. Rallies were organized 

in various cities, workers went on strike in railway workshops, and shops closed down. As 

the news of Jallianwala Bagh spread, crowds took to the streets in many north Indian towns. 

There were strikes, clashes with the police and attacks on government buildings. The 

government responded with brutal repression, seeking to humiliate and terrorize people: 

satyagrahis were forced to rub their noses on the ground, crawl on the streets, and do salaam 

(salute) to all sahibs; people were flogged and villages (around Gujranwala in Punjab, now in 

Pakistan) were bombed. Seeing violence spread, Mahatma Gandhi called off the movement. 

 

1.  Identify the movement.  

2.  What was the prime reason behind the launch of the Movement? 

3. Mention two ways the Britishers enforced to repress this movement. 

1+1+2

=4 

35. Read the source given below and answer the questions that follow: 

 

Many thought that given the disadvantages and rising resistance against the multipurpose 

projects, water harvesting system was a viable alternative, both socio-economically and 

environmentally. In ancient India, along with the sophisticated hydraulic structures, there 

existed an extraordinary tradition of water-harvesting system. People had in-depth 

knowledge of rainfall regimes and soil types and developed wide ranging techniques to 

harvest rainwater, groundwater, river water and flood water in keeping with the local 

ecological conditions and their water needs. In hill and mountainous regions, people-built 

diversion channels like the ‘guls’ or ‘kuls’ of the Western Himalayas for agriculture. 

‘Rooftop rainwater harvesting’ was commonly practised to store drinking water, particularly 

in Rajasthan. In the flood plains of Bengal, people developed inundation channels to irrigate 

their fields. In arid and semi-arid regions, agricultural fields were converted into rain fed 

storage structures that allowed the water to stand and moisten the soil like the ‘khadins’ in 

Jaisalmer and ‘Johads’ in other parts of Rajasthan.  In the semi-arid and arid regions of 

Rajasthan, particularly in Bikaner, Phalodi and Barmer, almost all the houses traditionally 

had underground tanks or tankas for storing drinking water. 

1. Mention how the people in ancient India developed wide ranging techniques of 

rainwater harvest.  

2.  Identify and write the method of rainwater harvesting practiced in Western 

Himalayas.  

3. Explain how traditional harvesting systems are used to store and conserve water in 

arid and semi-arid regions. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

1 

 

2 
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36. Take the case of Laxmi with her two-hectare plot of unirrigated land. The government can 

spend some money or banks can provide a loan, to construct a well for her family to irrigate 

the land. Laxmi will then be able to irrigate her land and take a second crop, wheat, during 

the rabi season. Let us suppose that one hectare of wheat can provide employment to two 

people for 50 days (including sowing, watering, fertiliser application and harvesting). So, 

two more members of the family can be employed in her own field. Now suppose a new dam 

is constructed and canals are dug to irrigate many such farms. This could lead to a lot 

employment generation within the agriculture sector itself reducing the problem of 

underemployment.  

A. Explain underemployment with an example?  

B. Examine the role of the government in checking the problem of under employment in 

rural areas.  

 

 

 

 

 

2 

2 

SECTION F 

MAP SKILL BASED QUESTIONS (3+2=5) 

37.a Two places A and B have been marked on the given outline map of India. 

Identify them and write their correct names on your copy. 

 

A. The place where Indian National Congress session was held in December,1920. 

B. The city where Jallianwalla Bagh incident took place. 

 

1X2=2 

37.b i. On the given political map of India some features are marked as A, B and C. Identify any 

two of them with the help of the information given and write their names on the map near to 

them. 

A – A major soil type of India. 

B – A leading producer state of tea. 

C – A leading producer state of rubber.  

ii. On the same map locate and label any one of the following. 

   a.  A river valley project on Chenab. 

                                 OR 

   b.  A river valley project on Mahanadi. 

1x3=3 
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